aerospace
™ climate control
Torgmotor
filtration

Cepmn TF / TG/ TH/ TK makc. 49 kBT fluid & gas handling

hydraulics
[MaopaBnmM4eckme MOTopbl C HU3KOW YaCTOTOM BpaLLEHUS pneumatics
process control
sealing & shielding

ENGINEERING YOUR SUCCESS.



Katanor HY02-8001/RU

MMapaenuyeckue MOTOpPbI, HEpPerynupyemble

RU Mpumeuanue.

HacTtosawwmin fokyMeHT 1 npoyast uHdopmauus komnanumu Parker
Hannifin GmbH, ee go4epHnx KOMNaHWi, TOProBbIX NPEACTaBUTENLCTB
1 aBTOPM30BaHHbIX AMCTPUOLIOTOPOB MpeacTaBnset coboi
onvcaHue BapWaHTOB U3JEenuii Unu cuctem ANa fanbHenLwwero
U3y4YeHUs TEXHUYECKN KBaNU@UUMPOBAHHBIMK NOMb30BaTENAMMU.
Mepen BbIGOPOM MMM MCMONL30BaHUEM KaKOro-nubo u3genus unm
CUCTEMbl BaXHO MPOaHanU3MpoBaTb BCE acneKTbl KOHKPETHOrO
MPUMEHEHUS 1 NPOBEPUTL MHAOPMALWIO N0 U3AENNIO NN CUCTEME
B TeKyLlem KaTtanore usgenuii. Benefgctene pasnnyHbIX yCrnosuii
aKcnnyatauuM U NPpUMEHEHWn ONUCaHHbIX U3AENUA U CUCTEM
nonb3oBaTenb HeCeT WCKIYUTENbHYIO OTBETCTBEHHOCTb 3a
OKOHYaTenbHbI BbIGOP M3aenuii 1 cucTem, a Takke 3a obecneyeHne
COOTBETCTBMSA BCEM SKCMMyaTaLMOHHLIM TpeboBaHnsAM 1 TpeboBaHWAM
6e30nacHOCTU NpUMEHeHUs Ha OCHOBe COBCTBEHHOrO aHanusa u
TectupoBanus. Komnanus Parker Hannifin GmbH moxet BHecTu
M3MEHEHNs B KOHCTPYKLMIO M3AenusB ugenus B nioboe Bpems 6e3
npeaBapuTensbHOTO YBEAOMIEHNS.

UK Note

This document and other information from Parker Hannifin GmbH,
its subsidiaries, sales offices and authorized distributors provide
product or system options for further investigation by users having
technical expertise. Before you select or use any product or system it
is important that you analyse all aspects of your application and review
the information concerning the product or system in the current product
catalogue. Due to the variety of operating conditions and applications
for these products or systems, the user, through his own analysis
and testing, is solely responsible for making the final selection of the
products and systems and assuring that all performance and safety
requirements of the application are met. The products are subject to
change by Parker Hannifin GmbH at any time without notice.

Katanor HY30-3213/RU. XM 04/2008 XX

7-6- 2

Parker Hannifin Corporation
Moppasnenexve ruapaBnInyeckoro
obopyaoBaHus



Karanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

CopepxaHue Cepun TE-TJ/ TF / TG-BG / TH/ TK
Onucatnue Cepus Ctp.
RU UK 7-6-
OcobeHHoCcTH Features TF 4
XapaKkTepucTukm Performance TF 5
Kopnyc Housing TF 6
MopThl Ports TF 8
3agHuve noprbl Rear Ports TF 9
CoeauHnTenbHbIN Ban Coupling shaft TF 10
Ouarpammbl Diagrams TF 12
Cpok cnyx6bl Life Time TF 14
Kopg ons 3akasa Ordering Code TF 15
OcobeHHocTH Features TG 16
XapakTepucTuku Performance TG 17
Kopnyc Housing TG 18
MopTbl Ports TG 20
3agHue nopTbl Rear Ports TG 21
CoeauHnTenbHbIN Ban Coupling shaft TG 22
Ouarpammbl Diagrams TG 23
Cpok cnyx6bl Life Time TG 25
Kon ons 3akasa Ordering Code TG 26
OcobeHHocTH Features TH 27
XapakTepucTtuku Performance TH 28
Kopnyc Housing TH 29
MopTbl Ports TH 30
CoeauHnTenbHbLIN Ban Coupling shaft TH 30
3agHue nopTbl Rear Ports TH 31
Ouarpammbl Diagrams TH 32
Cpok cnyx6bl Life Time TH 34
Kon ons 3akasa Ordering Code TH 35
OcobeHHocTH Features TK 36
XapakTepucTukm Performance TK 37
Kopnyc Housing TK 38
3apgHue nopTbl Rear Ports TK 39
CoennHuTENbHBIN Ban Coupling shaft TK 40
[unarpammbl Diagrams TK 41
Cpok cnyx6bl Life Time TK 42
Kop onsa 3akasa Ordering Code TK 43
Mpumep Example TFITG/THITK 44
YpaBHUTENbHbI NPegoXpaHUTENbHbIN KnanaH Crossover relief valve TF/TG 45
TF/TG/TH 46
YernHouHbI knanaH ropsivero Macna Hot oil shuttle valve TF/TG 47
TH 48
[laTumnk yacToTbl BpaLleHus Speed sensor TF/TG 49
MHorogMckoBbI TOPMO3 Multiple disc brake TF 51
TF/TG 52
OcobeHHoCTH Features BG 55
Kop onsa 3akasa Ordering Code BG 56
Koabl BapuaHTOB Option Codes TF/TG/TH 57
Jkennyaraums Operation BCe 58
Tunopa3smepsl MOTOPOB Motor range BCe 59

7-6-3

Parker Hannifin Corporation

I'Io,qpaa,qeneHMe rmaopasnuyeckoro

o6opynoBaHus




Katanor HY02-8001/RU
OcobeHHOCTH

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cepua TF

¢ [epOTOpPHbLIN MOTOP C HU3KOW YaCTOTOM BpaLleHUs

* [lepeknioyaloLWmMii KNanaH ¢ HyfIeBOl yTe4KoM
lMoBbILeHHbIN 1 Bonee NOCTOAHHDI
06beMHbIN KNa

¢ Lun6GepHbin poTop
CHKEHME TPEHWS U BHYTPEHHEN YTEUKM
CoxpaHeHvie apeKTUBHOCTH B TEYEHNE BCETO
Cpoka cry6bl MoTopa

* 3anaTeHTOBaHHOE YNJIOTHEHUE Bana BbICOKOTO AaBreHus
He TpebytoTcst obpaTHble knanaHsbl
He TpebytoTca gononHuTensHble Tpy6onpoBoabl

* Llupokmit BbIGOp paboumx 06bLEeMOB, BapuaHToB ¢hnaHua
v Bana
lMoBblIweHne 3 HEKTUBHOCTY KOHCTPYKLNK CUCTEM B
COOTBETCTBWW C TUMOM MPUMEHEHNS

* Low Speed Gerotor Motor

* Zero leak commutation valve
For greater, more consistent
volumetric efficiency

* Roller vane rotor set

Reduces friction and internal leakage
Maintaining efficiency throughout

the life of the motor

* A patented high-pressure shaft seal

No check valves needed
No extra plumbing

*  Wide choice of displacement range, flange and shaft

options

Greater efficiency in systems design

to suit your application

‘N

|
W

[T A
{

QHI A F W\

7-6-4

Parker Hannifin Corporation
lMoppasnenexve ruapaBInyeckoro
obopyaoBaHus




Karanor HY02-8001/RU
XapaKkTepucTmku

MMapaBnMyeckne MOTOpbl, Heperynmpyemble
Cepua TF

YacToTa BpaLleHns
Speed

5..750 06/MuH

Pacxon macna
Qil flow

makc. 100 n/mMuH

[laBneHwe nutaHus
Supply pressure

makc. 300 6ap

KpyTawmii momeHT
Torque

makc. 900 Hm

BokoBas Harpyska

makc. 16 000 H

Side load
& s
‘&O Q N
Sa S S § £ s
O @ ) o 9 o @ ()
o & & g s & SIS s £
X & & & & & &5 $ @ > §
> K @ ) &
Y & 4 ) ¢ & T Q8 S
NJEy N g & B S & 9
& @ <l Lo o o KR Ra ol o X
FS OS> L& § o ) & o £E )
.0 S &8 S & g L §'s SRS L;§
s & 3 AN & ¢ T S & S S
&& T & N S5 o5 £ s ¢ & F
s § & §& e & & o
S O & ~ ¥ &
&S L L §§ S L L S
Cepus Pa6ou./ PaGou./ Pa6ou./ Pa6ou./ PaGou./ Pa6ou./
MOTOPOB cm’/o6 KpPaTKOBPEM. | KpaTKOBPEM. | KpaTKOBpeM. | Makc., 6ap | KpaTKOBpeM. | KpaTKOBPEM. | KpaTKOBPeM.
TF cm3/rev 06/MUH n/MuH 6ap Hm Mmakc. KBt Hm
TF 80 81 550/730 45/60 200/280 300 215/295 19 172/236
TF 100 100 600/750 60/75 160/240 300 210/315 21 168/252
TF 130 128 470/580 60/75 140/200 300 240/350 19 192/280
TF 140 141 370/530 60/75 140/200 300 250/390 18 197/308
TF 170 169 355/440 60/75 140/200 300 330/485 19 264/388
TF 195 197 300/380 60/75 140/200 300 380/560 19 304/448
TF 240 238 320/420 75/100 140/200 300 460/685 24 368/548
TF 280 280 270/350 75/100 140/200 300 550/800 24 440/640
TF 360 364 200/260 75/100 130/200 300 590/910 24 510/780
TF 405 405 170/230 75/100 130/175 300 650/910 21 575/789
TF 475 477 150/200 75/100 115/140 300 680/850 17 603/740
KpaTKOBpEM. =

3HaueHve Ans KpaTKoBPEMEHHOTO pexiMa OTHOCUTCS K 10% paBoThl B TeUEHWE KaXaoi MUHYTHI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6-5

Parker Hannifin Corporation
lMNonpaspenexue ruapasBnuMyeckoro
obopynoBaHus



Katanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Kopnyc Cepua TF
Kom E
8
64 59
16
22°30° ¢ 22°3%
SN i L_A_\J_
L ! : E
— |/ | / ‘
A \ 133 -
S I |~ 98255
_ 3126.5 Ef | 1 I A SN RS S 7J7 282,50
I 2106,4 ’
T A / 1 e
B :
~— 7 ; E
T - T
T
@95 @13,5 nn
Koa M
3
64 64
16
22°30° ¢ 22°30/\
A A A {_
— [/ i
A o/ [ 133 N
—— | / | 28255
—H 2106.4 2126,5 E— T — |t — — i — - 982,50
. R ) & _
B .
— / E
P B
1S o /
\
295 13,5 L
Macca / Weight TF80 TF100 TF130 TF140 TF170 TF195 TF240 TF280 TF360 TF405 TF475
g
kr / kg 13,6 13,7 13,9 14,0 14,2 14,7 15,0 15,5 16,0 16,5 17,5
Kon E «Ly, mm 186 186 189 191 194 197 202 206 215 220 229
Kog M «Ly, mm 191 191 194 196 199 202 207 212 220 225 234
7-6-6 Parker Hannifin Corporation

lMoppasnenexve ruapaBInyeckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Kopnyc Cepusa TF
Kog H
A |37 47—~
o 6
45 iqg 685
282,55
— 282,50
A l
H E @j | 97497
Ef 1 T = A S T 074,93
L VI —
) : : ’
——
@147,6 13,5 e
Kog V
HGS,G——N
21064 — | @135 422,5[» 16 Y
| 98255
A N A [ E— 282,50
o
Macca / Weight TF80 TF100 | TF130 | TF140 | TF170 | TF195 | TF240 | TF280 | TF360 | TF405 | TF475
kr/ kg 14,0 14,0 14,2 14,3 14,6 14,9 15,3 15,6 16,3 17,0 17,5
Koa H «L», MM 146 146 149 151 154 157 162 167 175 180 189
Koa V «L», Mm 213 213 216 218 221 224 229 233 242 247 256

7-6-7 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
obopynoBaHus



Karanor HY02-8001/RU
MopTbl

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cepua TF

Kog W
G1/2x 15

Koo W Koo V

G1/2x 15 7/8-14UNF,

ynn. KonbLlo

Kog W Koa V
G1/2x 15 7/8-14UNF,
ynn. Konbuo

O/ O

Paspes A

Paspes B

YnnoTH. konbuo B@12,37x2,62

konbLo @18x2 NBR 80 1.4

ARP 568 Ne 112 1.8

RN

@22  M16x1,5 \J
i N4

—

-

Koo N

Koo N

Kog K

—18,5/~——

M6x13 "~ 6.6

%

MOTOp C KpenJieHneMm Ha KonnektTope nocrtaBnaeTca
c2 YNNOTHUTENBbHLIMW KONbLUaMW.

Motor with manifold mount is supplied with
2 O-rings.

7-6-8

Parker Hannifin Corporation
lMoppasnenexve ruapaBInyeckoro
obopyaoBaHus




Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

3apgHue nopThbl Cepusa TF
Kopn B 7/8-14UNF Kog X G 1/2
7/8-14 UNF, G1/2
225 yNn. YonbLo
A g P
—
A
—
—_—
B
~—
\_ = ‘i
Y wo
Kog L
— 22,5% M16x1,5
T~ 28,6 (=
M8x13 R
g S
63,5 M
457 = —
O
B
\_ = ‘J_L
w3 n o "RL
Kop A 7/8-14UNF KogY G 1/2
<5 7/8-14 UNF, G1/2
4" ynr. KonbLo
| — 1] J
~—
A -
— I M —
j ) K A
B _—
—
— [y S—— —1 —/1
g w o w g
Macca / Weight TF80 TF100 TF130 TF140 TF170 TF195 TF240 TF280 TF360 TF405 TF475
Kr / kg 15,3 14,4 15,6 14,7 16,0 16,3 16,7 17,0 17,8 18,3 19,0
Kon «L1», MM 211 211 214 216 219 222 227 231 240 245 254
B, X, L, «L2», Mm 216 216 219 221 224 227 232 236 246 250 259
AY «L3», MM 170,2 170,2 173,3 1751 178,1 181,4 186,0 190,8 200,5 204,5 213,2
7-6-9 Parker Hannifin Corporation

Moapasnenexue ruapaenuyeckoro
obopynoBaHus




Katanor HY02-8001/RU l'Mapasnuyeckme MOTOPbI, HEPErynMpyeMble

CoeaMHUTENbHbIE Banbl Cepua TF
Tun 44 Tun 45
50 M12x25 07,91
\ M12x25 ] | 0789
‘ 54,5 —» OBOMbBEHTHBIN LUAWL, ‘ ~—36,5—> “7
I f—49,3 —» i ANS B92.1-1970 cTaHaapTHbIi i
; Mnockoe coeamHeHne ¢ 60KOBOM L f
————1 "
—— — 1,031,750 mocapkon -l ,,/031 750 f \ 35,402
—— 931725 War 12/24 31,725 '
: 14 3y6beB
? Bonblwoi guam. 1,25 gronm. ?
‘ ‘ 41 Yron 3auennenus 30°
! MonHbIN Wwnuy,
Tun 08 Tun 46
‘ 5/16x1 SAE J502, CtaHgapTHbIn 7.96 A10x8x46, DIN 6885
. ’ -0,036
| KOHYC T8 oo 794 3.4 \ M12x25 10

| — - 3’0 ‘ 8.5 o —  |—
| C . ‘ ¥
|

T = (5 i |
@31,88 AN ¥ 232,018 35,0°7
U 231,75 232,002
1 — 35— 19 =~ 1-20UNEF 55,5
Tun 26 Tun 47
A8x7x32, DIN 6885 1/4 x 1 SAE J502, CtaHaapTHbIil

+0,025

M8x16 6,35

|

I}
,,/ 225,015 28,0 225,40 2g 0**° -
325,002 ¢ @2537 "
Tun 41 Tunbl 26, 41, 47
6B SAE J499, CraHaapTHbIit CoepunuTenbHbii Ban @ 25 MM Makc. KpyTALumii MoMeHT pabou./
‘ M8x16 KpaTKoBpEM. 450/550 Hut
‘ r 41 5—‘ Coupling shaft @ 1inch Max. torque cont./int.
L :‘ 25,4

7-6-10 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Katanor HY02-8001/RU MMapaBnMyeckne MOTOpbl, Heperynmpyemble
CoepuHuUTeNbHbLIE Banbl Cepua TF

e O .
:H 1 [ :H
o kj B 1IN }%J
pO O I
Twvn 26 [ [ [
| L L
~ 54 ~| - 49 = ~ 54 ~| -~ 94 =
Tun 47

Tun 41 [% [% [% [%

Tun 44 [

| e——
\

[ —rm— |
\

i
il

Tun 45 @

Twun 08

Twvn 46 H}:Ehﬂ

r
[

7-6- 11 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
obopynoBaHus



Katanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Huarpammbl Cepua TF
TE 80 TF 100
Hm 10 20 30 40 45 50 60 N/MUH Hm 10 20 30 40 50 60 7075 n/MuUH
- e %07
240 - 240 6ap 280
220 ] 260 — 200 6ap
200_] 200 6ap 240
00 220
180 170 6ap 200 160 6ap
160 180
140 — 140 6ap 160 — 130 6ap
120 | 140 —|
100 — 1006ap 1207 100 6ap
80 _] 100 —
_ 70 6a 80 70 6ap
o a8
20 35 Gap ‘218 B 35 Gap
0 HH‘HH‘\\H‘HH‘HH‘HH‘HH‘HH‘HH‘\\H‘HH‘HH‘HH‘HH‘HH‘ 0 7\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘
0 50 150 250 350 450 550 650 750 o6/mMuH 0 100 200 300 400 500 600 700 800 O6/MWH
TF 130 TF 140
Hwm 10 20 30 40 50 60 7075 n/MuH Hwm 10 20 30 40 50 60 70 75 n/vmuH
360 — _
1 200 6ap 400 B 200 6ap
320 360
280 | 170 6ap 320 170 6ap
240 280
E 140 Gap E 140 Gap
200 - 240
- 200
160 - - 100 6a
E 100 6ap 160 — p
120 - =
] 70 6ap 120 i 70 6ap
807 80
O7HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘\H\‘HH‘HH‘HH‘ 07HH‘\H\‘Hf\‘\\\\‘\\\\‘\\\\‘\H\‘\H\‘HH‘\H\}H\\‘
0 50 100 150 200 250 300 350 400 450 500 550 600 06/M1H 0 50 100 150 200 250 300 350 400 450 50006/MuH
TF 170 TF 195
Hwm 10 20 30 40 50 60 7075 n/muH Hm 10 20 30 40 50 60 7075 nA/MuH
500 600
450 — 2006ap g5 E 200 Gap
1 500
400 ]
: 1706ap 450 - 170 6ap
350 400
300 1406ap 55, 140 6ap
250 — 300 =
200 —f 100 6ap 250 f 100 6ap
] 200 -
190 E 706ap 450 70 6ap
’IOOE 100%
50 *; 35 Gap 50 % 35 6ap
07\\\\‘1\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘ 07:‘\\\\\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘
0 50 100 150 200 250 300 350 400 450 o6/mMuH 0 50 100 150 200 250 300 350 400 o6/mMmuH
[]Pabou. / Cont. [ ] Kpatkoepewm. / Int. KkpaTkoBpem. =

3HayeHue Ans KpaTKOBPEMEHHOTO pexuvmMa oTHocuTes K 10% paboTbl B TeueHne
Kaxaon MUHYTbI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6-12

Parker Hannifin Corporation
lMoppasnenexve ruapaBInyeckoro
obopyaoBaHus



Katanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Avarpammbl Cepua TF
TF 240 TF 280
Hm 20 40 60 75 80 100 n/MuH Hm 20 40 60 75 80 100  n/MUH
700 850
650 200 6a .
600 P 750 - 200 Gap
550 E
650
500 170 6ap a 170 6ap
450 550 —
400 140 Gap -
350 450 - 140 6ap
300 E
250 1006ap 590 100 6ap
200 250
150 70 6ap - 70 Gap
100 1507
50 35 6Gap 50 | 35 6ap
0 ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘
0 60 120 180 240 300 360 420 06/MuH 0 30 60 90 120 150 180 210 240 270 300 330360 06/MUH
TF 360 TF 405
Hm 20 40 60 80 100 /MUH Hm 20 40 60 75 100 n/mMuH
1000 — 1100
900 — 190 6ap 1000—
800 — 900 170 6ap
700 800
600 ] 1406ap 1907 140 6ap
1 600—|
500 — 500
i B 100 6ap
- 100 6
400 1 ap 400
300 —| _
] 3007 70 6ap
200 N 70 6ap 200
100 — 100 —
] 35 6ap 1 35 6ap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T 0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T
0 25 50 75 100 125 150 175 200 225 250 OG/MMH 0 40 60 120 160 200 240 oB/mun
TF 475
Hwm 20 40 60 75 100 /MUH
1000
900 |
800 140 6ap
,/_
700
600 115 6ap
500
p—
400
300— 70 6ap
200+
100 ] 35 6ap
O ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 1
0 40 60 120 160 200 06/MUH
[]Pabou. / Cont. [_]Kpatkospewm. / Int. KpaTkoBpem. =

3HayeHuWe Ans KpaTKOBPEMEHHOTO pexvma oTHocuTcst k 10% paboTsl B TeueHne

KaXOon MUHYTBI.
int. =
Intermittent operation rating applies to 10% of every minute.

Parker Hannifin Corporation
Moapasnenexue ruapaenuyeckoro
obopynoBaHus

7-6- 13



Katanor HY02-8001/RU MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cpok cnyx6bl Cepun TF
Koo E Kog M
on 670000 33 oA 670000 v
C L
(O I )
— n ' n
F (H) F(H)
25000 V\f 25000 ]
22500 +—f~\ 22500 A
LN |
20000 -+ \7\ - F ocesas 20000 N T 1 Focesas
17500 Al | 4500 H | INC T 4500
| ﬂ"* N 4500H 17500/ H” ] 4500 H
l L N
15000 1j— - 15000 1
— | —H
12500~ ] 12500 -
10000 10000 - ™

-40 -20 0 20 40 60 80 100L (mm) 40 20 0 20 40 60 80 100L (mm)

Kog H 33 Kon V 33
670000 670000
L L
FR‘<0,56+m> FR'<1,11 +m>
Ln = Lh=
n n
o F (H)
25000 /\ 25000 ]AY
1
22500 \ 22500 1}
o /7, C
20000 H B‘}‘\ . 20000 LI/l . i
I —— oceBas I oceBas
17500 ‘l” 4500 H 17500 / | ”i[ 4500 H
“‘L - - . H N -
e
15000 -+ 15000 1-f—f
P | 1‘ I
12500 -H—!
12500 \ ] y
10000 10000

40 -20 0 20 40 60 80 100L
0 20 40 60 80 100 120 140 L (Mm) (M)

Cpok cnyx6bl (L, B yacax) pagnanbHbiX MOALWMMHUKOB MOXHO
BLIYMCNIUTBL MO cnedytowei dopmyne. 3HayeHne F orpaHuyeHo
MeXaHN4eCcKoW MPOYHOCTbIO Bana (CM. guarpammy). Pasmep «L»
npeactaBnsieT cobon paccTosHWe OT hnaHua kopryca A0 TOUKM
NPUIOXEHNS PaaManbHoOM cubl F .

Life time (L, in hours) of the radial bearings can be calculated with the
following formula. The value F_ is limited by the mechanical strength
of the shaft (see diagram). The measurement "L” is the length from the
housing flange up to the point of impact of the radial force F ..

L = Y
h
MpviBeseHHbIE hopMynbl AENCTBUTENBHBI AN cpoka cnyx6s1 B10. :; f ’:MH
The preceding formulas are valid for a B10 duration of life. nR : 06(/'}“”

7-6- 14 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Katanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Kop pnsa 3akasa Cepua TF
Cepus Pa6ounit 06em Kopnyc MopTbl Ban HanpaBneHue BpaLieHus BapuaHt
Series Displacement Housing Ports Shaft Direction of rotation Option code
Kon cm®/o6 [pyrve BapuaHThbl,
OT/INYHbIE OT
0080 81 ctaHgapta «AABB»,
0100 100 CM. Ha cTp. 57.
0130 128
0140 141
0170 169
0195 195
0240 237 Kon MepegHuii nopt
0280 280 Bt ItA
0360 364
0405 405 0
0475 ar7 Kog, nepegHui nopt
W G1/2
Kon Y 7/8-14 UNF
YNAOTH. KOMbLIO
N YHVBEpCanbHbIA 1
M8x13
E
K9 YHWBEpCanbHbIiA
M6x12 Kon Ban
2 Kpome kopnyca «H» -
Not possible for housing “H” — J
% Kpome koprycos 264 I 25 Kon
M «M, E, V» L Yy
Not possible for housing
‘M, E, V" a i
4749 = 254
. A 0
Kon 3agHui nopt M
H 4)5 é
Y G 1/2 ocesoit 414 =
A 7/8-14 UNF 68 SAE
oceson I
4 —_—
v X G 1/2 papuanbHbii War 12124 1
B 7/8-14 UNFy v
paananbHblit 45 { A Py
" MocTaBNAETCS TOMbKO C 3aHNM L YHMBEpCanbHbIi T
nopTom papvanbHbiint M8x13
=
:uJ
46 {f —— 32
f

4) Tunbl 26, 41, 47

CoepuHnTenbHbIi Ban @ 25 MM Makc. KpyTSLmUiA MOMEHT

Coupling shaft
5) <TF0280

pabounii/kpaTkoBpeMeHHbIiA. 450 / 550 Hm
@ 1inch Max. torque cont./int. 450/550 Nm

7-6- 15

Parker Hannifin Corporation
lMNonpaspenexue ruapasBnuMyeckoro
obopynoBaHus



Katanor HY02-8001/RU MMapaBnuyeckne MOTOPbI, HeperynmpyemMble
OcobeHHoCTH Cepua TG

¢ [epOTOpPHbLIN MOTOP C HU3KOW YaCTOTOM BpaLleHUs .
* [lepeknioyalowWwmii KNanaH ¢ HyfIeBOW yTe4YKON .
lMoBbILWEHHbIN 1 6onee NOCTOSHHBIN
06beEMHbBIN KNA
¢ LWu6GepHbin poTop .
CHWIKEHME TPEHWS U BHYTPEHHEN YTEUKM
CoxpaHeHue 3hheKTUBHOCTY B TEYEHWE BCETO
cpoka cry0bl MoTOpa
* 3anaTeHTOBaHHOE YNJIOTHEHUE Bana BbICOKOTO AaBreHus .
He TpebytoTcst 0bpaTHble KnanaHsl
He TpebytoTca gononHuTenbsHble Tpy6onpoBoabl
* Llupokui BbIGOp paboymx 06bLEMOB, BapuaHToOB dnaHua 1 .
Bana
lMoBbiweHWe 3pHEKTUBHOCTY KOHCTPYKLIMK CUCTEM B
COOTBETCTBWW C TUMOM MPUMEHEHNS

Low Speed Gerotor Motor

Zero leak commutation valve

For greater, more consistent

volumetric efficiency

Roller vane rotor set

Reduces friction and internal leakage
Maintaining efficiency throughout the life of the
motor

A patented high-pressure shaft seal

No check valves needed

No extra plumbing

Wide choice of displacement range, flange and shaft op-
tions

Greater efficiency in systems design to suit your
application

1 M ! =

VAV

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Karanor HY02-8001/RU
XapaKkTepucTmKu

MMapaBnMyeckne MOTOpbI, HEpPerynmpyemble
Cepua TG

YacToTa BpaLleHus
Speed

5..710 06/MuH

Pacxon macna
Qil flow

makc. 115 n/mMuH

[laBneHue nutaHus
Supply pressure

makc. 300 6ap

KpyTawmi momeHT
Torque

makc. 1490 H

BokoBas Harpyska

makc. 16 000 H

Side load
S
& ®
QO S
S Ky NI & £ N
S & $ ® g /S $ 4
g & § § & £ $ NG
), 3 % Q IS N @ SN
SR & & TN o & ¥ NN NS
£ & 3 y L 4 s &8 $9
§E & K LS ¢S ) LE £
o QD ) @ SIPS Q R KRS o .8
NS § & &8 S48 fF& & S ¥
& o g5 s €5 & S¢ /S8
S (NN (DN (NN (N (O & .
SO & S & & & s & ¥ & &
eS L L L ¥ L L §§
Cepus pabou./ pabou./ pa6ou./ pabou./ pabou./ pabou./
MOTOpPOB cm’/o6 KPaTKOBPEM. | KpaTKOBPEM. | KpaTKoBpeM. | Makc. 6ap | kpaTKkoBpeM. | KpaTKOBPEM. | KpaTKOBpeM.
TG cmi/rev 06/MUH n/MuH Hm makc. KBT Hm
TG 140 140 530/710 75/100 200/280 300 400/545 33 320/436
TG 170 169 440/575 75/100 200/280 300 485/670 33 388/536
TG 195 195 380/510 75/100 200/280 300 560/770 33 448/616
TG 240 237 320/420 75/100 200/280 300 685/945 32 548/756
TG 280 280 270/350 75/100 200/280 300 800/1100 31 640/880
TG 335 337 225/290 75/100 200/280 300 980/1350 30 784/1080
TG 405 405 185/245 75/100 170/240 300 960/1350 27 768/1080
TG 475 476 160/240 75/115 140/200 300 960/1400 28 768/1120
TG 530 529 140/215 75/115 140/170 300 1050/1280 23 840/1024
TG 625 624 120/185 75/115 120/160 300 1040/1360 20 832/1088
TG 785 786 95/145 75/115 100/140 300 1150/1490 17 920/1192
TG 960 958 78/119 75/115 70/100 300 925/1390 12 740/1112
KpaTKOBpEM. =

3HayeHue ans KpaTKOBPEMEHHOIo peXxmnmMa OTHOCUTCA K 10% pa60TbI B TeYEHWE Kaxaom MWHYTbI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6- 17

Parker Hannifin Corporation
lMNonpaspenexue ruapasBnmMyeckoro
o6opynoBaHus



Katanor HY02-8001/RU l'Mapasnuyeckne MOTOPbI, HEPErynMpyeMble
Kopnyc Cepua TG
Kog E
64 59w [0
16
22°30° ¢ 22°30f\
— // ‘ E
A 7/ / \ 133 I~
— ||/
— O106.4 3126,5 E— IR RRR T A B S e
—= |\ J : i
B :
-~ i
) )
X =
\
@95 2135 L
Kog M
64 64 3
16
22°30° 22"3% >
N ~ AL ’
A / \ 133 -
= (— 282,55
_ j 3126,5 Ei p | A 282,50
/ 3106,4 o {
_.B | L
<: I
I ) B
X = j
\
295 2135 L -
Macca / Weight TG140 TG170 | TG195 | TG240 | TG280 | TG335 | TG405 | TG475 | TG530 | TG625 | TG785 | TG960
Kkr / kg 14,2 14,5 14,7 15,1 15,5 15,9 16,5 17,2 17,9 18,6 20,2 22,0
Kon E «L», Mm 191 194 197 202 207 213 220 229 235 245 264 283
Kog M «L», Mm 196 199 202 208 212 218 225 234 240 250 269 288
7-6-18 Parker Hannifin Corporation

I'IonpameneHMe rmapasnu4eckoro

obopyaoBaHus




Karanor HY02-8001/RU Mmapaenuyeckne MOTOPbI, HEPETyNMpPyeMble
Kopnyc Cepua TG

Kog H

65 45° 6.5

282,55
— 282,50

1

A
7; i ; I — 74,97

i 74,93

]

@/\T/\Egg | B 7
—
@147,6 @135 L

)

FT\F‘TIEN
|
\
T
T
T
T
T
T
T
T

[

Ko V

282,55
A Y _ 98250
"
Macca Weight TG140 TG170 | TG195 | TG240 | TG280 | TG335 | TG405 | TG475 | TG530 | TG625 | TG785 | TGI6O
kr / kg 16,1 163 | 166 | 170 | 174 | 178 | 184 | 190 | 198 | 205 | 220 | 237
Kon H «L», MM 150 154 157 162 166 173 180 188 195 204 223 242
Kon VV «L», MM 217 220 224 228 233 238 246 255 262 272 290 | 309

7-6-19 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU MMppaBnmMyeckme MOTOpbI, HEperynmpyemMble
MopThl Cepua TG

Kog W Koa: N
G1/2x 15

Koo W Koo V Koo N

G1/2x 15 7/8-14UNF,
ynn. KonbLo

Kog W Koo V Koa K

—18,5/~——

G1/2x15 7/8-14UNF, M6x13 o6

ynm. KonbLo

%

Paspes A Paspes B
YnnoTH. konbuo @12,37x2,62
YIMOTH. KOMbLO 1,4 ARP 568 Ne 112 1.8

MOTOp C KpenJieHneMm Ha Konnektope nocrtaBnaeTca

@18x2 NBR 80 C 2 yNNOTHUTENBHBLIMU KOMbLIaMM.
¢ m‘ Motor with manifold mount is supplied with

2 O-rings.
@22 M16x1,5 \] @173 @127
12

7-6- 20 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

3apgHue nopThbl Cepua TG
Koa B 7/8-14UNF Kog X G 1/2
7/8-14 UNF, G1/2
22,5 ynr. KonbLo
A I
—
A
.
—
B
D ——
\_ = ‘i
n 3 u_on
Kog L
—»22,5% M16x1,5
= 28,6 [+
M8x13 _
g S
63,5 M
457 +— —_— — ‘ —
O
B
\_ = ‘J_L
"3 "o URE
Koa A 7/8-14UNF KogY G 1/2
) 7/8-14 UNF, G1/2
a‘ ynI. KonbLo
| — 1] J
D e —
A -
= M M —
S 7 7 -
B _—
—
— [y S—— —1 —/1
L 3n o g
Macca / Weight TG140 TG170 | TG195 | TG240 | TG280 | TG335 | TG405 | TG475 | TG530 | TG625 | TG785 | TG960
Kr / kg 16,1 16,3 16,6 17,0 17,4 17,8 18,4 19,0 19,8 20,5 22,0 23,7
Kop «L1», Mm 216 219 222 227 232 238 245 254 260 270 289 308
B, X, L, «L2», Mm 221 224 227 232 237 243 250 259 265 275 294 313
AY «L3», Mm 175 179 182 187 191 198 205 213 220 229 247 267
7-6- 21 Parker Hannifin Corporation

MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus




Katanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

CoeavHUTENbHbIE Banbl Cepusa TG
Tun 44 Tun 45
\ 50 M12x25 07,91
\ M12x25 07,89
| 545 — | 3BOMbBEHTHBII LUANLY ‘ ~—36,5— ‘
~— 49,3 —»| l ANS B92.1-1970 cTaHgapTHbIN T3
; Mocayika no 6oKOBbLIM CTOPOHAaM MpHt / r\
—, 531 750 nnockoi popme BnagmHbl wnmua |4 ¥ @31,750 35,407
4 ©31.725 War 12/24 331,725
————— ,
: 14 3ybbeB
‘ ? Bonbuwoit gnam. 1,25 gronm. f
‘ « 41 , Yron 3auennenus 30° ‘
\
MonHbIN Wwnuy,
Tun 08 Tun 46
‘ 5/16x1 SAE J502, CtaHgapTHbI 7.96 A10x8x46, DIN 6885
‘ KOHYC 1:8 1o =00Nm 7,94 . 34 ‘ M12x25 10700
| : 3.0 | 8.5 -
N o 1 B
S @31,88 oLy oyl ¥ @32,018 35,0"°
U 331,75 232,002
! <~ 35— 19 |~ [1-20UNEF \ 55,5

Tun 45

Tun 08

Tun 46

c—
\

Julk

r
[

*60——]

* o 3akasy Ban gnametpom 35 Mm

| e——
\

7-6- 22

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Avarpammbl Cepua TG
TG 140 TG 170
Hm 20 40 60 7580 100 A/MUH Hm 20 40 60 7580 100 n/MuH
5507 700
500 2806ap 650 280 6ap
450 - o007
: 240 6ap 550 — 240 6ap
400 - 500 -
350 - 200 6ap 450 — 200 6ap
E 400 —
202 ; 170 6ap 350; 170 6ap
50 = i
1 140 6ap 300 — 140 6ap
200 250 —
150 100 6ap 200 100 6ap
100 150
] 70 bap 100 70 6ap
50 50 ]
] 356 .
O T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ ap 0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 35 6ap
0 50 150 250 350 450 550 650 750 06/MuH 0 50 100 150 200 250 300 350 400 450 500 550 600 o6/muH
TG 195 TG 240
Hwm 20 40 60 7580 100 A/MUH Hm 20 40 60 7580 100 A/MUH
800 1000
200 2806ap  gg0 280 6ap
600 —! 240 Gap 800 240 6ap
g 200 6 7003
B ap — 2
500 E 600 00 6ap
400{ 170 6ap 500 170 6ap
500 g 140 6ap 400:: 140 6ap
200 ] 1006ap 3907 100 6ap
100 Z 70 6ap 200 z 70 6ap
] 100
. 35 6ap — 35 Gap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ O TTTT ‘ TTTT ‘ TTTT ‘ TTTT ‘ TTTT ‘ TTTT ‘ TT T ‘ TTTT ‘ TTTT ‘
0 50 100 150 200 250 300 350 400 450 500 550 o6/muH 0 50 100 150 200 250 300 350 400 450 of/mMuH
TG 280 TG 335
Hm 20 40 60 7580 100 n/MuH Hm 20 40 60 7580 100 n/MuH
1200 1400
= 1300
1100 | 2806ap o0 280 6ap
1000 1100 - 240 6
] ] ap
900 240 6ap 1000
700 800 —
600 | 1706ap 700 170 Gap
500 — 140 6ap 600 ] 140 6ap
400 — 500
300 -] 100 6ap 400 —| 100 6ap
] 300 70 6ap
200 70 6ap 200
100 - 356ap 100 35 6ap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 0 HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH[HH‘HH‘HH‘
0 30 60 90 120 150 180 210 240 270 300 330 360 06/MuH 0 25 50 75 100 125 150 175 200 225 250 275 300 o6/MuH
[]Pabou. / Cont. [ ] Kpatkosp. / Int. KpaTKkoBpeM. =

3HaueHne Ans KpaTKoBPEMEHHOro pexuvima oTHoeuTes K 10% paboTbl B TeveHue
KaXOoN MUHYTBI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6-23 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus




Katanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Huarpammbl Cepua TG
TG 405 TG 475
Hwm 20 40 60 7580 100 n/MuH Hwm 15 35 55 75 95 115 n/MUH
1400 1400 —
1300 | 2406ap 1300
1100 — 2006ap 1100
1000 — 1000 170 6ap
900 ] 170 6ap 900 —
800 | 800 140 Gap
7007, 140 6ap 700;
600 600
500 100 Gap 500 100 Gap
400 - 400 |
300 70 6ap 300 4 70 Gap
200 200 11—
100 35 6ap 100 35 6ap
0 T[T [ T[T T T T[T [T T[T TTIT[TTTT 0 T T T [T T T [T T T T T T [ TT T T
0 25 50 75 100 125 150 175 200 225 250 06/mMuH 0 25 50 75 100 125 150 175 200 225 250 06/MuH
TG 530 TG 625
Hm 15 35 55 75 95 115 n/mMuH Hm 15 35 55 75 95 115 n/MuH
1300j 1400 ]
1200f 1300 7
1100 170 6ap 1200 ] 180 6ap
1000 1100
900 140 6ap 1000;
800 — 90077 120 6ap
700 8007
7 700 7 100 6a
500j 500;
400 706 400 70 6ap
300 | ap 300
200 200
100 — _]
] 35 6ap 100 35 6ap
0 \‘1‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ O \‘\‘1‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘
0 20 40 60 80 100 120 140 160 180 200 220 06/MuWH 0 20 40 60 80 100 120 140 160 180 200 ob6/MuH
TG 785 TG 960
Hwm 15 35 55 75 95 115 1/MnH Hm 15 35 55 75 95 115 n/MynH
1500 — 1400 —
1400 1300 |
1300 - 140 6ap 1200 —
1200 — _]
1100 1100 100 Gap
) 1000 —|
1000 —| 0001 —
900 — 100 6ap .
800
800 — 200 |
700 — B
600{ 288— 70 6ap
500 — 70 6ap B
400 a0 | ]
300 — 300
200 — 200 —
100 — 35 6ap 100 35 6ap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ O T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘
0 10 20 30 40 50 60 70 80 90 110 130 150 06/MuH 0 10 20 30 40 50 60 70 80 90 100 110 120 o6/MuH
[]Pa6ou. / Cont. [ ] Kpatkosp. / Int. KpaTKoBpeM. =

3HauyeHne Ans KpaTKoBPEMEHHOrO pexyviMa oTHoeuTes K 10% paboTbl B TeveHue
KaXXOOoW MUHYTBI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6- 24

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Karanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Cpok cnyx6bl Cepua TG
Kop E Kog M
A 670000 33 A 670000 33
L L
%8 b (119 g o\ (e gy
h = n h = n
F (H) F (H)
25000 25000 7
N A\
22500 1 — 22500 H
20000 | ' 1 20000 |
l \7\  —— F ocesan ‘ L‘ a4 Focesas
\ i | - I \
17500 i 4500 H 17500 i 4500 H
15000 % J 15000 |
1 N
s
12500 l 12500 -
_ \ _|
10000 10000 ™~
440 -20 0 20 40 60 80 100L (Mm) 40 20 0 20 40 60 80 100L (Mm)
Koa H Kopg V
670000 33 670000 33
L L
FR‘<0,56+—88 MM> Fre <1,11 e MM)
Ln = Lh =
n n
F (H) F (H)
25000 /\ 25000 ]AY
22500 \ 22500 1\\
= -1 Y
20000 [N — Focosan 20000 [ /. X F
/ L\‘ — [ ocesan / ‘ H[ i —— ‘ ocesasi
17500 { 4500 H 17500 ‘ | 4500 H
| l!L 7 - | HL, 1] -
15000 ‘ T 15000 I!‘ l‘ i
o L
12500 12500 1
I~ [ N
10000 10000

0 20 40 60 80 100 120 140 L (mm)

Cpok cnyx6bl (L, B yacax) pagnanbHbiX MOALWMNMHUKOB MOXHO
BLIYMCNIUTL MO criefylowen opmyne. 3HaveHne F. orpaHuyeHo
MEXaHW4YeCKON MPOYHOCTLIO Bana (cMm. guarpammy). Pasmep «L»
npeacTaBnseT cobol paccTosiHMe OT (hnaHua Kopnyca A0 TOYKM
MPUNOXEHUS PAaManbHON cunbl F .

Life time (L, in hours) of the radial bearings can be calculated with the
following formula. The value F_ is limited by the mechanical strength
of the shaft (see diagram). The measurement "L” is the length from the
housing flange up to the point of impact of the radial force F_.

-40 -20 0 20 40 60 80 100L (mm)

The preceding formulas are valid for a B10 duration of life.

lMNpviBeaeHHbIE hOpMynbl AENCTBUTENBHBI ANs cpoka cnyxbsl B10.

y
MM

F (H)
06/MUH

=

x

S mrr

7-6- 25

Parker Hannifin Corporation
MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus



Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Kog pnsa 3akasa Cepua TG
TG A A A |B
Cepus Pa6ounit 06bem Kopnyc MopTbl Ban Hanpasnenue BpaleHuns BapuaHnTt
Series Displacement Housing Ports Shaft Direction of rotation Option
[pyrue BapuaHTsbl,
Kog cm3/o6 — OTNMNYHbIE OT
0140 140 cTtaHpapta «AABB»,
CM. Ha cTp. 57.
0170 169
0195 195
0240 237
0280 280
0335 337
0405 405 Kon 3agHui nopt
0475 476
0530 529 Bl itA
0625 624
0785 786 0
0960 958 Kop Mepegnun nopt | —
W G112
v 7/8-14 UNF
YNNOTH. KOMbLO
N2 yHUBepCanbHbIi ]
M8x13
Kon 5
K9 yHUBepCcanbHbIi
M6x13
E 2 Kpome kopnyca «H»
Not possible for housing “H” .
3 Kpome kopnycos «M, E, V» Kon 3apgHun nopt
Not possible for housing
ME V' Bt ItA
M 0
Kog 3agHuii nopt
Y G 1/2 oceBont
A | 7/8-14 UNF ocesoit Kon Ban
H -
X G 1/2 papgnanbHbin a4 = ]
B 7/8-14 UNF, Pitch 12/24
pagvanbHbIn
v L YHuBepcanbHbIi —t
paavanbHbii M8x13 45 ———31.75
" MocTaBnsieTcs TOMNbKO C 3agHUM
nopTom 08
Only possible with rear port
]
o |F=I=
Mo s
3anpocy
7-6- 26 Parker Hannifin Corporation

lNoppasgeneHune rmapaBnuyeckoro

obopyaoBaHus




Katanor HY02-8001/RU
OcobeHHOCTH

MMapaBnMyeckne MOTOpbI, HEpPerynmpyemble
Cepua TH

* [epOTOPHbLIA MOTOP C HU3KOW YacTOTOM BpaLleHUs

* [lepeknioyalowmii KnanaH ¢ HyneBoW yTe4YKON
lMoBbIWEHHLIV 1 6051ee NOCTOSHHbIN
00bEMHBIN KN

* LUunGepHbIN poTop
CHWKEHME TPEHNS N BHYTPEHHEN YTEYKM
CoxpaHeHue athheKTMBHOCTH B TEYEHNE BCETO
cpoka cnyx0bl moTopa

* 3anaTeHTOBaHHOE YNJIOTHEHUE Bana BbICOKOrO AaBreHus
He TpebytoTcs obpaTtHble knanaHbl
He TpebytoTcs gononHuTenbHble TpybonpoBoab

* llUupokuit guana3oH paboynx 06LEMOB, BapuaHTOB
¢dnaHua v Bana
lNoBblweHVe 3aPHEKTUBHOCTH KOHCTPYKLMW CUCTEM B
COOTBETCTBUM C TUMOM MPUMEHEHNS

Low Speed Gerotor Motor

Zero leak commutation valve

For greater, more consistent

volumetric efficiency

Roller vane rotor set

Reduces friction and internal leakage

Maintaining efficiency throughout the life of the

motor

A patented high-pressure shaft seal

No check valves needed

No extra plumbing

Wide choice of displacement range, flange and shaft
options

Greater efficiency in systems design to suit your application

L] —

S —

i L

7-6- 27

Parker Hannifin Corporation
MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus



Karanor HY02-8001/RU MMppaBnmMyeckme MOTOpbI, HEperynmpyemMble
XapakTtepucTukm Cepua TH

YacToTa BpalLeHus

Speed 5..0,710 06/MuH

Pacxon macna

Oil flow makc. 115 n/mMuH

[laBnexue nutaHus

Supply pressure makc. 300 Gap

KpyTawmin MomMeHT

makc. 1490 H
Torque

BokoBas Harpyska makc. 30 000 H

Side load
AN
F §
S ®
& & ) & A 3
o & § o ¢ & L N L
Q‘b & o 5 f§$ & § fo° § @ X Q‘b
SR & Y S o & ) &L | & &
NS & &8 S S &S S
5@ I & FE g R 5 o & S
T T o o ISiF S (NN & o L8 )
X L> ) ¢ & S &3 RS o .§
§& A N K8 § & > & S S
& ;& 5 &§ €5 &8 ¢ SF
§& /&5 /& /EF & &8 /&F /&8
Qo S S S S S S S
Cepus cMY/oB Pa6ou./ Pa6ou./ Pa6ou./ makc., 6ap Pa6ou./ Pa6ou./ Pa6ou./
MOTOpPOB emdrev KpaTKOBPEM. | KpaTKOBPEM. | KpaTKOBpeM. v KpaTKOBPEM. | KpaTKOBPEM. | KpaTKOBPEM.
TH 06/MuH n/MuH 6ap Hm Mmakc. KBt Hm
TH 140 140 460/660 75/100 200/280 300 400/540 33 320/430
TH 170 169 400/560 75/100 200/280 300 485/650 33 380/540
TH 195 195 340/480 75/100 200/280 300 560/770 33 450/620
TH 240 237 270/400 75/100 200/280 300 685/920 32 550/740
TH 280 280 230/340 75/100 200/280 300 800/1100 31 640/880
TH 335 337 190/280 75/100 200/280 300 980/1350 30 790/1080
TH 405 405 170/240 75/100 170/240 300 960/1350 27 770/1080
TH 475 476 150/240 75/115 140/200 300 960/1400 28 770/1120
TH 530 529 130/220 75/115 140/170 300 1050/1280 23 840/1024
TH 625 624 110/190 75/115 120/160 300 1040/1360 20 830/1090
TH 785 786 90/150 75/115 100/140 300 1150/1490 17 920/1200
TH 960 958 80/120 75/115 70/100 300 925/1390 12 740/1110
KpaTKOBpeM. =

3HaveHne ans KpaTKoBPEMEHHOTO pexuma oTHocuTcs Kk 10% paboThbl B TeYEHWE KaXaon MUHYTI.
int. =
Intermittent operation rating applies to 10% of every minute.

7-6- 28 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Karanor HY02-8001/RU Mmapaenuyeckne MOTOPbI, HEPETyNMpPyeMble
Kopnyc Cepusa TH

Koo M

63 —= 87

16

FT“I\FT“TTII’TT
|
[
i
i
i
i
i
i

[

295 13,5 nL»

Koo U

A
3 i Z | [ — 282,55

O I A S R 77”7 . 282,50

[7aN e J

T J Tt

a1
a1

oN
©wo

S

2147,6 213,5 L
Macca / Weight TH140 | TH170 | TH195 | TH240 | TH280 | TH335 | TH405 | TH475 | TH530 | TH625 | TH785 | TH960
kikg| 17,0 172 | 174 | 178 | 182 | 186 | 192 | 198 | 206 | 213 | 229 [ 245
KonM [y, um 216 219 | 222 | 227 | 232 | 238 | 245 | 254 | 260 | 270 | 289 | 308
Ko U Ly, Mm 173 177 | 180 | 184 | 189 | 196 | 203 | 212 | 218 | 227 | 246 | 265

7-6-29 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Katanor HY02-8001/RU

OTtBepcTus | coegnHUTENbHbIE Banbl

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cepusa TH

OTBepcTUs

Kog V 7/8-14 UNF ynn. konbuo
Koo W G1/2

87

CoeaunHnTenbHbLIN Ban
Tun 31

Kop V 7/8-14 UNF ynn. konbLo

4,00
3,45

‘ KoHycC 1:8 9,50
| /k33,3 Md:500Nm  —2A
y— r\7 | ¢
4 i
‘ R @38,100
L ) 238,075

48 23

40 |0
NOT0

Tun 31

Tun 32

T

11/4-18UNEF

Il
J

.

['1)

Twun 32

<—36,5

22

J/
/ an)
)] ‘
50,8 O
\ | 1
\ fany
N\ \J
\/
A
09,50
7/8-14 UNFx1" 19,47
i I
@38,100
- 38,075
'
23 |=—
—h

120

ﬁ
1)

128

0,25

41,8

7-6- 30

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Karanor HY02-8001/RU Mmapaenuyeckne MOTOPbI, HEPETyNMpPyeMble
3apgHue nopThbl Cepusa TH

Kopa B 7/8-14UNF Koa X G 1/2
7/8-14 UNF, G1/2

rﬁ 656 —= 225~ /ynn, KOMbLIO
5
457 T — 1T 11— - **‘ —
7S
T -
"L2" Bt
Koa A 7/8-14UNF KoaY G 1/2
7/8-14 UNF, 5 G1/2

N gnn KOJ'IbLI,O$‘

M*:j

2,5~— M16x1,5
28,6

M H**j

BT R | W

N

1
Paspes C «C
Y. KOMbLO @18x2 NBR 80 1.4
¢ \\ MOTOp C KpenneHnemM Ha KONnnekTope nocTtaBnsaeTca C 2 YANOTHUTENbHBIMU
\ Konbuamu.
@22  M16x1,5 ,

Motor with manifold mount is supplied with 2 O-rings.

N

L <212
Macca / Weight TH140 TH170 | TH195 | TH240 | TH280 | TH335 | TH405 | TH475 | TH530 | TH625 | TH785 | TH960
kr / kg 18,6 18,8 19,0 19,4 19,8 20,2 20,8 21,4 22,2 22,9 24,5 26,1
Kon «L1», Mm 241 244 247 252 257 263 270 279 285 295 314 333
B, X,LLA,Y [«L2» mm 198 202 205 209 214 221 228 237 243 252 271 290

7-6- 31 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Katanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Huarpammbl Cepusa TH
TH 140 TH 170
Hwm 20 40 60 7580 100 n/MuH Hm 20 40 60 7580 100  n/MuH
550 700
500 2806ap 650 280 6ap
1503 600 -
50 4 i
E 2406ap 550 240 6ap
400 500
350 3 200 6ap 450 { 200 6ap
] 400
o 17008ap 55, 170 6ap
250 1406ap 300 140 6ap
200 | 250
150 1006ap 200 100 6ap
] 150 |
1003 706ap 400 70 6ap
50 50 ]
E 35 6ap . 35 6ap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T [ T ‘ T ‘ T ‘ T ‘ T ‘
0 50 150 250 350 450 550 650 750 ob/MuH 0 50 100 150 200 250 300 350 400 450 500 550 600 06/MuH
TH 195 TH 240
Hm 20 40 60 7580 100 A/MUH Hm 20 40 60 7580 100 n/MuH
800 1000
200 2806ap 9o — 280 6ap
600 — 240 Gap 800 E 240 6ap
. 700
E 200 6ap i 200 6
500 E 600 ap
400{ 170 6ap 500:: 170 6ap
200 E 140 Gap 400 :: 140 6ap
200 ] 1006ap 3007 100 6ap
] 70 Gap 200 E 70 6ap
100 —| 100
- 35 6ap - 35 bap
O T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 0 TTTT ‘ TTTT ‘ TTTT ‘ TrTT ‘ TTTT ‘ TTTT ‘ TTT1 ‘ TTTT ‘ TTTT ‘
0 50 100 150 200 250 300 350 400 450 500 550 o6/muH 0 50 100 150 200 250 300 350 400 450 o6/muH
TH 280 TH 335
Hwm 20 40 60 7580 100 n/MrH Hwm 20 40 60 7580 100 n/MUH
1200 — 1400
. 1300 2806
1100 — 280620 1o | ap
1000 1100 240 6
1 B ap
- 2406 :
2007 %" 1000 ;
800 2006ap 900 200 6ap
700 800
600 1706ap 700 170 Gap
400 500
300; 100 6ap 4007, 100 6ap
1 3007 70 6a
200 70 6ap 200 p
1007 35 Gap 100 35 Gap
O T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T [ T ‘ T ‘ T ‘ 0 HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH[HH‘HH‘HH‘
0 30 60 90 120 150 180 210 240 270 300 330 360 06/MuH 0 25 50 75 100 125 150 175 200 225 250 275 300 06/MuH
[]Pa6ou. / Cont. [ ] kpatkoepem. / Int. KpaTKoBpeM. =

3HayeHue Ans KpaTKOBPEMEHHOTO pexuvmMa oTHocuTCs K 10% paboTbl B TeueHne
Kaxgon MUHYTbI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6- 32 Parker Hannifin Corporation

Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Karanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Anarpammbl Cepusa TH
TH 405 TH 475
Hm 20 40 60 7580 100 n/MuH Hm 15 35 55 75 95 115 n/MuH
1400 — 1400
1300 — 240 6ap 1300
1200 N 1200 - 200 6ap
11007, 200 6ap 11007,
1000 — 1000 170 Gap
900 - 170 6ap 900 -
800 800 — 140 Gap
700 1406ap 700
600 | 600
500 100 Gap 500 100 6ap
400 4001 |
300 | 70 6ap 300 70 Gap
200 200 |
100 — 35 6ap 100 — 35 6ap
O HH‘\H\‘HH‘H\\‘\H\‘\H\‘HH‘\H\‘HH‘\H\‘ 0 HH‘HH‘\H\‘HH‘\H\‘\H\‘\\H‘HH‘H\\‘\H\‘
0 25 50 75 100 125 150 175 200 225250 O6/MuH 0 25 50 75 100 125 150 175 200 225250 o6/MuH
TH 530 TH 625
Hwm 15 35 55 75 95 115 n/MuH Hm 15 35 55 75 95 115  n/muH
1300 1400
1200 — 1300 ]
1100 170 6ap 1200 180 Gap
1000 — 1100
900 - 1000
1 140 6ap —
800 9007 120 Gap
700
. E 100 Ga
683 B 100 6ap 600 P
ioo i 5007
] 400 — 70 6a
300 | 70 6ap 300 - P
200 200
100 | 100 |
1 35 6ap 7 35 bap
0 \‘1‘\‘\‘\‘\‘\‘\‘\[\‘\‘ 0 \‘\‘1‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘
0 20 40 60 80 100 120 140 160 180 200 220 O6/MuH 0 20 40 60 80 100 120 140 160 180 200 0G/MUH
TH 785 TH 960
Hu 15 35 55 75 95 115  n/MuH Hm 15 35 55 75 95  115n/MuH
1500 1400 —
1400 1300 j/l
1300 - 140 Gap 1200
1200 - 1100 — 1006
1100 — 1000 ] ap
1000 —| 900 —
900 100 6ap 800
388 E 700 -
600 — 600 — 70 6ap
500 706ap 001 | |
400 4007
300 — 300
200 200 —
100 { 35 6ap 100 35 6ap
0 T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ O T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘
0 10 20 30 40 50 60 70 80 90 110 130 150 OB/MUH 0 10 20 30 40 50 60 70 80 90 100 110120 06/MuH

[]Pabov. / Cont. [ ] kpatkospem. / Int.

KpaTKoBpeM. =

3HayeHue Ans KpaTKOBPEMEHHOTO pexvmMa oTHocuTes K 10% paboTsl B TeueHne
KaXXZOW MUHYTHI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6- 33

Parker Hannifin Corporation
MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus



Katanor HY02-8001/RU MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cpok cnyx6bl Cepua TH
Kog M
F(H)
50000
45000 J(
40000 +—
|
35000 / f ‘T\ Focesas /—\ 1500000 33
| ‘H“* .l — ¢ o L
30000 —— | 4500 H O Fre <1,20 T MM>
Y - Q o Lh=
25000 . ‘ — n
20000 — ]w ‘
15000 C
10000
-40 -20 0 20 40 60 80 100L (mm)
Kopg U
F(H)
50000
45000 A
40000 ———
35000 N F ocepan 1500000 >
30000 / | | 4500 H Fr <0,76 . #>
T N - L= 95 MM
25000 e n
20000 +——+——=
15000
10000
0 20 40 60 80 100 120 140 L (mm)
Cpok cnyx6bl (L, B yacax) paananbHbiX NOALIMMTHUKOB MOXHO
BbIYMCNINTL MO crefywowein opmyne. 3HaveHune F . orpaHuyeHo
MEeXaHW4eCKOW MPOYHOCTBIO Bana (cMm. guarpammy). Pasmep «L»
npeacraenseT cobon paccTtosHue OT naHua Kopryca A0 TOYKU
MPUNOXEHNSA PAANaNbHON cuibl F .
Life time (L, in hours) of the radial bearings can be calculated with the
following formula. The value F_ is limited by the mechanical strength
of the shaft (see diagram). The measurement "L is the length from the
housing flange up to the point of impact of the radial force F_.
L = y
lMpviBeaeHHbIe hopMynbl AENCTBUTENBHBI AN cpoka cnyx6sl B10. L = MM
The preceding formulas are valid for a B10 duration of life. F. = F (H)
n = 06/MuH

7-6- 34 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Kop, pna 3akasa Cepua TH
TH AlA A B
Cepus Pa6ouwuit o6bem Kopnyc MopTbl Ban HanpagBnexue BpalieHus BapuaHT
Series Displacement Housing Ports Shaft Direction of rotation Option
Kog cM3/06 — Kog MepenHuit nopt [Dpyrve BapuanTsl,
OT/INYHbIE OT
0140 140 s 7/8-14 UNF cTaHaapta «AABB»,
0170 169 YMIOTH. KOMbLO cM. Ha cTp. 57.
0195 195 W G1/2
0240 237 ' He nocrasnsietcs Ans kopnyca «U»
0280 280 Not possible for housing “U” Kog MepegHuii nopt
0335 337 LN
0405 405
0475 476 0
0530 529 Kon 3aaHui nopt
0625 624 Y G112
0785 786 A 7/8-14 UNF
0960 958 YNIOTH. KONbLO
X YHUBEPCanbHbIN
M8x13 1
B 7/8-14 UNF
pagnanbHbIn
L YHUBEPCanbHbIN
Kon pagvaneHbin M8x13
Koa
M
0
Kon Ban
u
dl=:

=

7-6- 35 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU MMapaenuyeckue MOTOPbI, HEpPerynupyemble

OcoGeHHOCTH Cepua TK
¢ [epOTOpPHbLIN MOTOP C HU3KOW YaCTOTOM BpaLieHUs * Low Speed Gerotor Motor
* [epekntoyarowmin KnanaH ¢ HyNeBOW YTEYKON * Zero leak commutation valve
[MoBbILLEHHBIN 1 Bonee NOCTOAHHBIN For greater, more consistent
00BbEeMHbIN Knj, volumetric efficiency
¢ LWun6GepHbin poTop * Roller vane rotor set
CHWKEHWe TPeHNUS N BHYTPEHHEN YTEYKN Reduces friction and internal leakage
CoxpaHeHue aheKTUBHOCTM B TEYEHME BCEMO Maintaining efficiency throughout the life of the
cpoka crnyxbbl moTopa motor
* 3anaTeHTOBaHHOE YNJIOTHEHUE Bana BbICOKOTO AaBreHus * A patented high-pressure shaft seal
He TpebytoTcs obpaTHble KnanaHbl No check valves needed
He TpebytoTcs gononHuTenbHble TPy6OnpoBoabl No extra plumbing
* llupokuir gnanasoH pabounx 06LeMOB, BapMaHTOB * Wide choice of displacement range, flange and shaft
cdnaHuya v Bana options
MoBbiweHne 3hhEKTUBHOCTU KOHCTPYKLMK CUCTEM B Greater efficiency in systems design to suit your application

COOTBETCTBMN C TUMOM NPUMEHEHNA

=i
)]
i
-

7-6- 36 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Katanor HY02-8001/RU MMapaBnMyeckne MOTOpbI, HEpPerynmpyemble
XapakTtepucTuku Cepua TK

YacTota BpalleHus

Speed 5..520 06/MuH

Pacxon macna

Oil flow Mmakc. 225 n/MuH

[laBneHune nuTaHus

Supply pressure makc. 330 6ap

KpyTawmi momeHT

makc. 2700 H
Torque

BokoBas Harpyska

makc. 26 000 H

Side load
S
@
d £
av‘°° S
S & S
> S B
e& /¢ £S5 /8 $ s
g s § o ge $ 3
s 5 9 § & s 5 o e
LS Q Ky TR % ) Q0 9 £ &
SR > N L7 S NP NS
& @ & L LRy NS N O & S
Fo /8y /5 §& /€8 /& /&S /Ee
¥ £E BN L §F s & g FE
&& & S NS < 5 N S8 &L
$ & &  /&&  /&E §& & §& /&
Lo SIS S S S S S S
Cepus Pa6ou./ Pa6ou./ Pa6ou./ Pa6ou./ Pa6ou./
MOTOpPOB cm®/o6 06/MUH KpaTKOBpeM. | KpaTKOBpeM. | Makc., 6ap | KpaTKOBpeM. | KpaTKOBpeM. | KpaTKoBpeM.
TK niMuH 6ap Hm Makc. KBt Hm
TK 250 251 520 114/133 240/310 330 815/1040 49 690/880
TK 315 315 410 114/133 240/310 330 1030/1315 47 950/1220
TK 400 400 370 114/151 205/275 330 1150/1525 49 1050/1410
TK 500 500 300 114/151 205/275 330 1440/1915 48 1320/1780
TK 630 629 240 114/151 205/225 330 1620/1715 34 1500/1620
TK 800 800 275 151/227 190/205 330 1915/2300 44 1740/1900
TK 1000 1000 220 151/227 175/190 330 2410/2660 35 1980/2180
KpaTkoBpeMm. =

3HaueHue ans KpaTKoOBPEMEHHOro pexuma oTHocuTest K 10% paboThl B TeYEHME Kaxa0N MUHYTHI.
int. =
Intermittent operation rating applies to 10% of every minute.

7-6-37 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Kopnyc Cepua TK
Kog K
88,9
45°
ne_
29,9 N
o
T ¥ —1
I 127,00
R 126,87
0150,37 ‘|
* Mo 3akasy ¢ nocafjouHbIM AnameTpom 125 mm
Kog T
87,6
45° 22,9 96.5
143 184,15 27
-—, /
—= A= i
/7 ( 139,70
; | U i 139,57
— Bil I
K T~ - —
0166,90 L
Macca / Weight TK250 TK315 TK400 TK500 TK630 TK800 TK1000
Koag K Ik 32,0 32,7 33,5 34,5 35,7 37,2 39,1
Kr
Koo T 9 30,8 31,4 32,3 33,2 345 36,0 37,9
Koo K «L», Mm 277 282 290 297 310 323 340
Koo T 191 196 203 213 224 239 257

7-6- 38 Parker Hannifin Corporation
Moapasnenexue rnapasnnuyeckoro
obopyaoBaHus



Karanor HY02-8001/RU

FMapaBnnyeckme MOTOpbI, Heperynupyemble

3aaHue oTBepcTUA Cepusa TK
Tun 4
8 x 3/8-16 UNC £6.6
rny6uHa 20 - <238
9,70 ‘¢
\? - 7
gy @
st 40 1%l
| s [o L oflll
’ 1111
w0 [ TR @
B AL A I
4" SA
PasbemHbIn hnaHey
Tvn 5
88,9
87,6 ,
.
Rt
111
il
| I
1111
111
A AL e B

1 5/16-12 UNF
nn. KonbLo

Parker Hannifin Corporation
MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus



Katanor HY02-8001/RU
CoegnHuTenbHble Banbl

l'Mapasnuyeckne MOTOPbI, HEPErynMpyeMble
Cepua TK

Tun 64
M12x25.4
6.35 | ‘k l
‘ 40,018
L 39,992
\ 50,0 T
74,3
Tun 36

3/8-16 UNC-1B x¥18,5
‘ ANSI B92,1-1970

¢

17 3ybbeB
war 12/24
= e Lo D
‘% 037414 2%%7 *'
! 33,19
‘ 354 MonHbIN Wwnuy, 32,64

Twvn 32

3/8-16 UNC-1B x¥18,5
|

'> 38,100
‘ 38,075
36,5 T
58,7
Twvn 63
Md:610Nm
\ / 81,75 1,1/4-18 UNEF
—— i
044,450
044,425
1:8 l
/ j
54,00 23,00

k93,2%‘ ~—177,5 —»‘
Twun 32 77 % — +
~—77,5— 162,3

Tun 36 = FE
| = L%

~—72,9— ~—157,5 —I

Twun 63 == = ()
[T |1

_J L

[— 92 %‘ -—176,7 —»‘

7-6- 40

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Ouarpammbl Cepua TK
TK 250 TK 315
Hm { 20 40 60 80 100 114 130 n/MuH Hwm | 20 40 60 80 100 114 130 n/MuH
] 310 6ap
280 6ap
240 6ap
210 6ap
170 6ap
140 6ap
100 6ap
70 6ap
0HH‘HH‘HH‘HH‘HH‘HH‘\H\‘\H\‘\H\‘\H\‘Hﬁs‘6a O\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘356ap
0 50 100 150 200 250 300 350 400 450 500 06/MMH 0 50 100 150 200 250 300 350 400450 oG/MuH
TK 400 TK 500
Hm | 20 40 60 80 100114 130 150 N/MUH Hwm 20 40 60 80 100114 130 150 n/MuH
280 6ap 280 6ap
240 6ap 240 6ap
210 Gap 210 6ap
170 Gap 170 6ap
140 Gap 140 Gap
100 6ap 100 6ap
70 6ap 70 6ap
O TTTT ‘ TTTT ‘ TTT1T ‘ TTT1T ‘ TTT1T ‘ T T 1T ‘ T TT ‘ TITT ‘ 35 Gap 35 6ap
0 50 100 150 200 250 300 350 400 06/MWH 0 25 50 75 100125 150 175 200 225 250 275 300 06/MUH
TK 630 TK 800
Hm 20 40 60 80 100114 130 150 n/MuH HM | 20 40 60 80 100120 150 180200 230 5n/MUH
B 2200
1800 225 6ap i
1600 210 6ap 2000
1400- 180077
i 170 6ap 16007 | 210 6ap
1200i 1400 190 6ap
1000-| 140 6ap 1200 170 6ap
J 11—
800+ 1000+
B 1 140 6a
6004 100 Gap 800 — P
b 600
4007 70 6ap 400-
200 ] 100 Gap
] 2007 70 6ap
O”“\”“\““\““\““\““\““\““\““\““\ 35 6ap oHHHH‘HH‘\\H‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘ 35 6ap
0 25 50 75 100 125 150 175 200 225 250 o6/MuH 0 25 50 75 100 125 150 175 200 225 250 275 300 06/M1H
[]Pabou. / Cont. [ ] Kpatkoepem. / Int. KpaTkoBpem. =

3HayeHuWe Ans KpaTKOBPEMEHHOTO pexvima oTHocuTcst k 10% paboTsl B TeueHne
KaXOOoN MUHYTBI.

int. =

Intermittent operation rating applies to 10% of every minute.

7-6- 41 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus




Katanor HY02-8001/RU l'Mapasnuyeckne MOTOPbI, HEPErynMpyeMble

Ouarpammbl / Cpok cnyx6bi Cepua TK

TK 1000

HMi 20 40 60 80 100120 150 180200 230 n/MWH
2600 -
2400:]
2200
2000
1800+
1600 190 Gap
1400 170 6ap
1200+
1000 140 Gap
800 |
600
400 |
200 70 6ap
0 T T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ 35 6ap
0 20 40 60 80 100 120 140 160 180 200 220 240 0B/MUH

100 6ap

Cpok cnyx0bl

Cpok cnyx6bl (L, B yacax) paguanbHbIX NOALIMMHUKOB MOXHO
BLIYMCNUTL MO cnefylollein gopmyne. 3HauyeHne F_ orpaHuyeHo
MEexaHU4eCcKon NpoYHOCTbIO Bana (cM. gnarpammy). Pasmep «L»
npeAcTaenset cobon paccTosHWe OT dnaHua Koprmyca A0 TOYKU
NPUMoXeH!sa paguansHoi cunbl F.

Life time (L, in hours) of the radial bearings can be calculated with the
following formula. The value F_ is limited by the mechanical strength
of the shaft (see diagram). The measurement "L” is the length from the
housing flange up to the point of impact of the radial force F_.

Kopg K Koa T
3,33 3,33
L= 12:10° ] Fa L= 12:10° ] Fa
"T760en | Fo "T760°n | Fo
< 70000 £ 70000
g o
60000 60000
50000 /\ = 50000 F— /\
i R -
40000 i AN 40000
I ~ Focesas | - Focesas
30000 — 30000 —
AN S9N s N 1 4500 H 4500 H
) \ - -
20000 ) 20000
f
10000 : = 10000 =
80 40 0 40 80 100L (wvm) 0 40 80 120 160 200L (vm)
Cpok cnyx0bl B yacax / Life in hours L =
YacroTa BpaleHus Bana / Shaft speed n = 06/MUH
LonycTtumas Gokosasi Harpy3ka no NpUBeAEHHON Bbille Avarpamme Ha 3afaHHoM pacctosHum ot F = F (H)
MOHTaXHoro ¢pnaHua /
Allowable side load defined by above curve at a distance from mounting flange
Harpyska pabouyeii ctopoHbl / Application side load F, = F(H

MpwBeaeHHble hopmynbl AeicTBUTENBHBI ANs cpoka cnyx6bl B10. / The preceding formulas are valid for a B10 duration of life.

7-6-42 Parker Hannifin Corporation
m Moapasnenexue rnapasnnuyeckoro

obopyaoBaHus




Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Kop ans 3akasa Cepua TK
TK A|lA| A |B
Cepus Pa6ouuit o6bem Kopnyc MopTbl Ban HanpaBneHue BpaleHus BapuaHnt
Series Displacement Housing Ports Shaft Direction of rotation Option
Koo cm*/06 — Kog | Hanpaenenne
0250 250
0315 315
0400 400
0
0500 500
0630 630
0800 800
1000 1000 Kon Ban Kon Ban
Pa3beMHbIl
tnaney 3/4 63 W 1
KonnekTop
Kop Kopnyc -
4 ib- L -0 [ o — J
|| |
K1) ¢7 ¢ L
15/16-12 SAE 36 %
= s— L
)
T 5 D\/¥ %/ ~
/\CD/} 64 | Hl-———|- 40
- ;

1) Mo 3akasy ¢ nocagoyHbIM gnameTpom 125 Mm
On request with 125 mm pilot diameter

7-6-43 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Mpumep Cepun TF/ TG/ TH/ TK

Pacuet kng v BbIXO4HOW MOLHOCTH

Calculation of efficiency and output power

TG 335

Md =960 Hm Hm 20 40 60 75 80 100 A/MuH

n =142 06/MuH 1400 —

Ap =200 6ap 1300 280 Gap

V =337 cm¥/06 1200 |

Q =60 n/muH 1100 240 6ap

960 - 1000 —| t
900 ] 200 6ap
800 —
700 - 170 6ap
600 — 140 6ap
500 —|
400 — 100 Gap
30077 70 6ap
200 —|
100 —| 35 bap
O HH‘HH‘HH‘HH‘HH‘\H\‘HH‘HH‘HH[HH‘HH‘HH‘

anpomgxaqueCK'MM KnA (Ir]mpwex‘)
Hydraulic-mechanical efficiency

0 25 50 75 100 125 150 175 200 225 250 275 300 06/MUH

A142

O6bemHbIn kna (N )
Volumtric efficiency

Md-20- 1 960-20 - n-Vv 142 - 337
nrmnpomex. = = n05- = =
Ap -V 200 - 337 Q- 108 60-10°
r]rw:lpomex. = 0’89 noﬁ. = 0,80
O6wwn kng (r]om_) MowyHocTe P (kBT)
Overall efficiency Power P
Md-n-1r 960 142 -
noﬁm. = r]064 ’ r]rmqpomex. = 0’80 ' 0’89 P= =
1043 1043
noﬁu.L. = 0’71 P= 14,3 kBT
7-6- 44 Parker Hannifin Corporation

Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

YpaBHUTENbHbIW NpeaoXpaHUTeNbHbIN KnanaH Cepuu TF/ TG
64 66 ‘ 133
— 18 (=— — 235~
| %
o NI e I e
: 3 ﬁ
- ? &J/ ¢ <
L" 375 786 635 457
' /( N I
k - G& /@;~ ~—
Y 212 48

G1/2x15 o85 26.6 1~

64 61 134
DY 18,5 [T 42 7 100
(o jungi (o
ﬁ%ﬁj 3$3 4 — ) @ A -
L 3175 =N 78,6 63,5 457 —
Vs —
Q e B :
—am AT J-—
f i on ] o O/
G1/2x15 265 " | 56 |- M6x75 DING12 - Md=14Nm

Koa nns 3aka3sa / Ordering Code

OtaenbHbIA knanaH

[aBneHue oTKpPbITUA

Koa ans 3akasa Koa ans 3akasa Koa Kon
(M8) (M6) BapuaHTa BapuaHTa Anuwa oL
100 6ap 410017-100 410018-100 HAAP HAAF 110 Mm
140 6ap 410017-140 410018-140 HAAU HAAH 158 Mm
170 6ap 410017-170 410018-170 HAAX HAAK 158 Mm
200 6ap 410017-200 410018-200 HABA HAAM 158 Mm

KpenneHus | Fixtures
4 x M8 ( M6 ) x 75 MM; 2 ynnOTHUTENbHBIX KOMbLia

7-6-45 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus




Karanor HY02-8001/RU

YpaBHUTENbHbIN NpeAoXpPaHUTENbHbIN KnanaH

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cepun TF/ TG/ TH

o 2L

Kon ans 3akasa / Ordering Code

e
s || o
e

Ba::;qma [aBneHue OTKpbITUA
BBBM 70 6ap
BBBJ 100 6ap
BBBN 140 6ap
BBCG 170 6ap
BBBF 210 6ap

Cepus «L1» | «L2» | «L3»
MOTOPOB| MM MM MM

TF80 213,5 | 218,5 [173,2
TF100 213,5 | 218,5 [173,2
TF130 216,5 | 221,5 [ 176,3
TF140 218,3 | 223,3 [ 178,1
TG140 | 218,3 | 223,3 | 178,1
TH140 2436 |201,2
TF170 221,3 | 226,3 [ 181,1
TG170 | 221,6 | 226,6 | 1804
TH170 246,9 |204,3
TF195 | 224,6 | 229,6 | 1844
TG195 | 224,6 | 229,6 | 1844
TH195 250,0 |207,6
TF240 229,2 | 234,2 [ 189,0
TG240 | 229,2 | 234,2 | 189,0
TH240 2548 |212,2
TF280 234,0 | 239,0 | 193,8
TG280 | 234,0 | 239,0 | 193,8
TH280 259,6 |217,0
TG330 | 2404 | 2454 |200,2
TH330 266,0 |223,3
TF365 | 243,7 | 248,7 | 203,5
TF405 | 247,7 | 252,7 | 207,5
TG405 | 247,7 | 252,7 | 207,5
TH405 275,3 |230,7
TF475 | 256,4 | 261,4 | 216,2
TG475 | 256,44 | 261,4 | 216,2
TH475 281,7 |239,3
TG530 | 262,7 | 267,7 |222,5
TH530 288,1 | 245,7
TG620 | 272,1 | 277,1 |231,9
TH620 297,8 | 255,1
TG790 | 291,2 | 296,2 | 251,0
TH790 316,8 | 274,1
TG960 | 310,2 | 315,2 |270,0
TH960 335,9 |293,2

7-6- 46

Parker Hannifin Corporation

Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Karanor HY02-8001/RU
YenHouHbI KNanaH ropsYero macna

MMapaBnMyeckne MOTOpbI, HEpPerynmpyemble
Cepun TF / TG

Kon AAFX

/]| 25°43°

Q=3,5n p=86ap 9=39 mm%¥c

e 9/16-18UNF, YenHouHbIN KnanaH ropsyero
"L1" YANOTH. KONbUO
macna no3Bonset OTBOAUTb
Macno HU3KOro LaBneHus B
CHUCTEMAX C 3aKPbITbIM KOHTYPOM
B pe3epByap, OxnaguTenb uim
unbTp ANs OXNaxaeHus B TOM
Xe KOHType.
_ _ Hot oil shuttle valve allows for
] diverting of low pressure oil in
@ 25°43"  closed loop applications to be
[~ returned to tank, cooler or filter for
cooling in the same circuit.
— 18 |+——
nLom 9/16-18UNF,
YANOTH. KOnbLUo
ajP 9/16-18UNF,
"L3" YAMOTH. KOMbLO
Macca / Weight TG140 | TG170 | TG195 | TG240 | TG280 | TG335 | TG405 | TG475 | TG530 | TG625 | TG785 | TG960
kr/kg| 16,0 16,3 16,5 16,9 17,3 17,7 18,3 19,0 19,7 20,4 22,0 23,7
Kop AAFX «L1», Mm 210,5 213,8 216,8 2214 226,2 232,6 239,9 248,6 2549 264,3 283,4 302,4
Kop AAFX «L2», Mm 2155 218,8 221,8 226,4 231,2 237,6 2449 253,6 259,9 269,3 288,4 307,4
Kog AAFX «L3», Mm 170,3 173,6 176,6 181,2 186,0 192,4 199,7 208,4 214,7 2241 2432 262,2
Macca / Weight TF80 TF100 TF130 TF140 TF170 TF195 TF240 TF280 TF360 TF405 TF475
kr/kg| 15,0 15,1 15,3 15,4 15,6 16,1 16,4 16,9 17,4 17,9 18,9
Kop AAFX «L1», Mm 205,9 205,9 208,9 210,9 213,9 216,9 221,9 2259 234,9 239,9 248,9
Kop AAFX «L2», Mm 210,9 210,9 213,9 215,9 218,9 221,9 226,9 231,9 239,9 2449 253,9
Kog AAFX «L3», Mm 165,9 165,9 168,9 170,9 173,9 176,9 181,9 186,9 194,9 199,9 208,9
7-6-47 Parker Hannifin Corporation

MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus




Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

YenHOYHBIIA KNanaH ropsyero Macna Cepus TH
Kop AAFX
A ‘ ””””
[ 7J> —
- \ ]
@ B
78__,_L Q=3,5n p=806ap 9=39 mm?c
- 18|~— 9/16-18UNF, YernHoyHbIN knanaH ropsyero
YNIOTH. KOMbLO Machna no3BondeT OoTBOAUTb
" Macrno HU3KOro JasneHus
B CMCTEMax C 3aKpbiTbiM
KOHTYpOoM B pe3epByap,
oxnagutens unu GUNLTP
A ana oxnaxgeHna B TOM Xe
KOHTYpe.
@ N— Hot oil shuttle valve al-lows
— H 1 for diverting of low pressure
— f 543" oil in closed loop applications
@ TXTT | to be re-turned to tank, cooler
or filter for cooling in the same
B circuit.
18 =— 9/16-18UNF,
YNMNOTH. KOnbLo
nLom
Macca / Weight TH140 TH170 | TH195 | TH240 | TH280 | TH335 | TH405 | TH475 | TH530 | TH620 | TH785 | TH960
Kkr/ kg 18,4 18,6 18,9 19,2 19,6 20,0 20,6 21,3 22,0 22,7 24,3 26,0
Kop AAFX «L1», Mm 235,8 2391 2422 247,0 251,8 258,2 265,5 2739 280,3 290,0 309,0 328,1
Kop AAFX «L2», Mm 193,4 196,5 200,0 204,4 209,2 215,5 2229 231,5 237,9 2473 266,3 285,4
7-6- 48 Parker Hannifin Corporation

Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Karanor HY02-8001/RU
[aTumnk yactoTbl BpaLleHus

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Cepun TF / TG

OTOT AaTyMKk 4acToThbl BpaLlEHWs MOBLILWEHHON HA4EeXHOCTH,
YCTOWYMBBIN K BO3LENCTBUIO HEOMaronpuaTHBIX MOrOAHBLIX YCMOBWA,
OCHOBaH Ha agpdekte Xonna. Mpu BHEWHEM NUTAHUKU OaATYMK
chopmmpyet 30 MNynbCOB NPSAMOYronbHOW hOpMbI Ha 0AMH 060pOT
BbIXOAHOrO Bana. 3a CYeT YMHOXEHUS CUrHana MOXHO MonyymTb 60
MMMNYNbCOB Ha 0AuH 060POT. YCTaHOBKA 3TOr0 3KOHOMUYHOTO AaTuMKa
HE BIUSIET Ha KPYTALMIA MOMEHT Unu JonycTnMyto BOKOBYIO Harpy3ky
MOTOpA, Ha KOTOPOM YCTaHOBIIEH AaTUMK.

This rugged, weather resistant speed sensor is a Hall effect device.
When externally powered, 30 square wave digital pulses per output
shaft revolution are produced. By signal multiplication, 60 pulses per
revolution can be obtained. The installation of this economical sensor
does not affect the torque or side load capability of the motor into
which it is installed.

2 1
NC +

O O
Q O

3 4
- Beixog

BbiBog Ne 1
BbiBog Ne 4
Rarauk Bbisog Ne 3

BbiBog Ne 2

Bbixog NPN

Pabouee HanpsixeHne
Operating voltage range

Pa6ouas Temnepartypa
Operating temperature

Pa6ouas vactota
Operating frequency range

Tok Harpy3ku
Sink current

MogkntoyeHne
Connection

4,5...24 B (nocT. TOK)

-30...100°C

0...10 kl'y

0...20 MA (makc.)

(0,25 Br, ponyck 5%)
(0.25 Watt, 5% tol.)

®dopmyna pacyeTa Harpy3o4HOro CONpOTUBNEHNS!

Formula pull-up resistor value

HanpsbkeHne / Voltage

4,5..24B

— ConpotvsneHue

Tok Harpy3ku /
Sink current

CoctosiHue: oTkn. / State: off

0...20 MA

Resistor

4 BbiBoga (12 mm), ctaHaapt DIN

KOm

95% + B
+V CoctosHue: Bkr. / State: on
(makc. 0,4 B nocr. Toka)
0B
7-6-49 Parker Hannifin Corporation

MoapasgneneHue ruapaenuMyeckoro
o6opynoBaHus




Karanor HY02-8001/RU

HaTumk YyacToTbl BpalleHus

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

Cepun TF

ITG

BapwuaHT: FSAB

14-19 Hwm

[‘765

ol

e
1 Ao &

JTOT AaTyuk umeet 3awmTty ot OﬁpaTHOVI NONAPHOCTK, HO HE 3allMLLeH OT
KOPOTKOro 3amMblKaHuA.

The sensor has reverse polarity protection but no short circuit protection.

Kop onsa 3akasa

™

F0195C\Y260AAAB]

F ® TORQMOTOR 9
| o=

F|S| A B
Cepus PaGounit 06bem Kopnyc MopTbl Ban HanpaBneHnue BpalieHus Bapuant
Series Displacement Housing Ports Shaft Direction of rotation Option

Kon Kon Hanpasnexve

Ll Bt ItA

TG

0
Kon — | Kog Kopnyc Koa Ban
TF
0080 81 — 1 CraHpapTHbIn
0100 100 26" {E fﬂ 25
0130 128 £ T Bl ita
0140 141 ,\
0170 169 m 1 o o o
0195 195 08 o o
0240 237 ‘ \—
0280 280 .
0360 364 | s
0405 405 Kon Mopr * Ej
0475 477 w G1/2
Koa . " MocTaBnsieTcsa TonbKO
G cM?/ob ans motopos TF
0140 140 Only possible for TF
0170 169 motors
0195 195
0240 237
0280 280
0335 337
0405 405
0475 476
0530 529
0625 624
0785 786
0960 958
7-6- 50 Parker Hannifin Corporation
Moppasgnenexue rmapasnMyeckoro




Karanor HY02-8001/RU lMppaBnnyeckme MOTOPbI, Heperynupyemble
MHoroauckoBbIil TOPMO3 Cepusa TF

re—>54 110
[aBneHue macna

M12x1,5 Oil pressure

LnoHka 43,2

Key A8X7x32

f )
il
wost M8 2140
82,5 P 106,4 106,4
@25 ?—Eﬂ:l—‘/ ‘ 2x180°
k 282,55 191
! = f 282

9

— 14414 |~— | =

raika 87° x 3,32

BuHT yTeuku macna
Oil leakage screw M12x1,5 le—43 —»| _ﬁ

Koa ans 3aka3sa / Ordering Code n:”_LH
Koa uﬁ J

OtaenbHbIn TopMo3 / Single brake

<

490111 | 490112 | 490113

JAAG JAAD JAAB j n; ﬁ
- B

CoyeTaHue MoTopa 1 TopMo3a
Motor-brake combination

KpyTawwmit MOMeHT (Cyxas akcnnyaraums) crat. Hm 580 400 270 Fr (H) n MMH'*
Torque (dry operation) OVH. Hm 450 320 215 12000 100
KpyTsiLmii MOMeHT (Mokpast akcnnyaTaums) crar. Hm 420 290 200 |
Torque (wet operation) avH. Hw 310 225 150 | 10000 A 200
P MUH. 6ap 200 16 1 8000 // 400
PacuetHoe aaenenue / Pressure rating >t
p makc. 6ap 320 6000 == 700
Y / Soeed n makc. o6/M1H 2000 4000 /T;
acToTa BpaLLeHus / Spee n max. rev/min H
2000 [ +—H
cM®  MUH. 5
Pa6ouuit xon / Working stroke 0 L]
oM°_MaKc. 14 54 40302010 0-10
MomeHT nHepummn / Mass moment of inertia Krm? 0,00065 | (Mm)
Macca / Weight KT 8

KpenneHnus / Fixtures
2 x M12x50 DIN 933

7-6- 51 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

MHoroauckoBbI TOPMO3 Cepun TF / TG
65 110
7
e +—42—=  [laBneHue macna
Oil pressure
. 555 M12x1,5 Oilp
LnoHka
Key A10x8x45 @20 Ny
il
T
LT 12
(= 8 1 M2 —
I — 1
f T
282 500 '\’18 I /FT I @140
) L F7 @106,4 106,4
@32 ﬁﬂz:‘v L 32 2%x180° 131
\ ' 82,55"
R |
raia10”> x 3,3
BuHT yTeukn macna
Oil leakage screw  M12x1,5 57 o) 13

Kopa nns 3aka3sa / Ordering Code

a2
OtaenbHbI Topmo3 / Single brake
490114 | 490115 | 490116
CouetaHue MoTopa 11 TopMo3a ‘ @ JAAN JAAL JAAJ
Motor-brake combination @ L
. ToceBasda
N R —" ﬂ; —_ )
| 2,500 H u:‘ H
KpyTsLmii MOMEHT (cyxas akcnnyaTtauusi) cTat. Hm 580 400 270 - \_ﬁ
Torque (dry operation) OUH. HMm 450 320 215 Fr (H)i N :MMH_1
KpyTsLwmin MOMEHT (MOKpas aKCryataLms) cTat. Hv 420 290 200 12000 100
Torque (wet operation) OWH. Hm 310 225 150
p MuH. 6ap 200 16 11 10000 200
P /P ti =
acyeTHoe faeneHue / Pressure rating b MaKe, 6ap 320 8000, /3 400
[ —
y  Speed N Makc. 06/MuH 2000 6000 —"1— ——1 700
acToTa BpaLleHus / Spee n max. rev/min 2000 —
cM® MUH. 5 ] —
- ; 2000 ===
Pa6ouuin xop / Working stroke oM’ MaKe. 14 . L
MomeHT nHepuun / Mass moment of inertia Krm? 0,00065 65 5040 302010 0-10
|
Macca / Weight Kr 8 (raw)
KpenneHnus / Fixtures
2 xM12x50 DIN 933
7-6- 52 Parker Hannifin Corporation
I'Ionpaap,eneHMe rmapasnu4eckoro
obopyaoBaHus



Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

MHOroaMcKoBbIi i TOPMO3 Cepun TF/ TG
114 100
83 31~ =385~ [laBnenue macna
M12x1,5 Oil pressure
82 9« X P 174
LLinoHka
Key »‘ r@ 143
A12x8x70 5 L
el e 12 / .
I/ M12
} KN
200 S : { - 282,55
2125 | gag® == 232" |~ 11| @765 -
P ! L 1 21476
T 4x90°
\ ]
M12 ><
faina10”° x 3,3
—-{17218 | <13 160
<—55,5 51—
BWHT yTeukn macna
Oil leakage screw  M12x1,5 67,5
Kop pns 3aka3a / Ordering Code
-/ kon
OtaenbHbIn TopMo3 / Single brake =
490117
CoueTaHue MoTopa 1 TopmMo3a
Motor-brake combination JAAT
Bt“?ld FoceBaﬂ
KpyTsiLuuit MOMEHT (Cyxas aKkcrnyaTauus) cTar. Hum 1250 | 4500 H —
Torque (dry operation) OWH. Hm 980 | - 1
KpyTawmit MoMeHT (MOKpas aKcmyataums) cTat. Hm 900 |
i .H 680 : ' —
Torque (wet operation) AVH. FiM Fr (H)! n MUK
p MUH. Gap 24 26000 100
PacueTtHoe naBnexue / Pressure rating
p makc. 6ap 320 22000 200
n Makc. 06/MvH 4000
300
Yacrota BpalueHus / Speed n max. rev/min 18000 200
. . cM® MUH. 11 14000 L Ak o
Pabouuit xon / Working stroke oM MaKe. 26 T e
10000 = fr
MomeHT nHepun / Mass moment of inertia Krm? 0,00282 6000E—— B
Macca / Weight K 15,3 L
2000} B
0 ' i
104 80 60 40 20 0-10
I (Mm)

KpenneHnus / Fixtures
4 x M12x50 DIN 933

7-6-53 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

MHOroaMcKoBbIi TOPMO3 Cepum TF/ TG
114 100
83 31~ =385 Nagnenue macna
M12x1,5 Oil pressure
82 9«  — : 174
LnoHka
Key L @20 0143
A12x8x32 1¢
- 5
sl 12 }/QL\ '
— 1 M12 _
= =T
f
260 MJZ KoHyc 1:10 ‘ ( \ f @82,55H7
7 F7|_ ||
@125 240 @32 76,5
! f DIN 1448 v @147,6
T 4x90°
M30x2 ' P Wy
M12 ><
* raﬁKa']OJSS X 3,3*-0,2
—~{17418 — 13 160
+—55,5 51—
BuHT yTeukn macna
Oil leakage screw  M12x1,5 67,5
Kon pns 3aka3a / Ordering Code
-/ Kon
OtaenbHbIn Topmo3 / Single brake
490118
CoueTaHve MoTopa 1 TopmMo3a
Motor-brake combination JAAW
FOCSBaﬂ
e | [
4,500 H —
KpyTsLLmMiA MOMEHT (Cyxas akcnnyataums) cTat. Hm 1250 - ]
Torque (dry operation) OvH. Hm 980 |
KpyTaLLmit MOMEHT (MoKpasi 3KcrinmyaTaums) crar. Hm 900 Fr (H) n MuH-
Torque (wet operation) [VH. Hi 680 26000 1 100
p MuH. 6ap 24
PacueTHoe faBneHxue / Pressure rating —— 320 22000 200
P MaKe. bap 18000 300
N Makc. 06/M1H 4000 400
YacTota BpalleHus / Speed n max. rev/min 14000 *;74;§77*
) . oM i, 1 10000 ——
Pabouuin xon / Working stroke oM® MaKe. 2% 6000 "
MomeHT nHepuym / Mass moment of inertia Krm? 0,00282 i
20007 i
Macca / Weight Kr 15,3 008‘ 1 1 il
73560 40 20 0-10
I (Mm)
Kpennenus / Fixtures
4 x M12x50 DIN 933
7-6- 54 Parker Hannifin Corporation

Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Katanor HY02-8001/RU MMOpaBNMYecKMe MOTOPbI, HEPEerynupyemble
MoTOp CO BCTPOEHHLIM TOPMO3OM Cepusa BG

Pa6ouune xapakrepuctuku / Performance

KpyTawmit MOMeHT (Mokpas akcnnyataumus)/ | AuH. Hw 1000
Torque (wet operation)
PacueTHoe aBneHue/ p MuH. Gap 19-21
Pressure rating p makc. 6ap 210
Yacrota BpalueHus/ n mMakc. 06/MuH 710
Speed n max. rev/min
Pa6ouuii xon / Working stroke cM®  Makc. 22,5
Macca / Weight BG140 | BG170 | BG195 | BG240 | BG280 | BG335 | BG405 | BG475 | BG530 | BG625 | BG785 | BG960
kr/kg| 27,3 27,5 27,8 28,1 28,5 28,9 29,5 30,2 30,9 31,7 33,2 34,9
Kog A+C «L», Mm 192,3 195,3 198,6 203,2 208,0 2144 2217 230,4 | 236,7 | 246,1 265,2 284,2
Tun Bana 05
L 106,7
7/8-UNF 16.8
ynn. KonbLo ~998—» 20
~—66,6— —T72.2—
21,94 -~ 531
O k 42,2~
- =
-1 NF
E L 5/8-16 |U 01715
@127,0 \ ]
126,9 |] = /
~ H NI I =——— @31,75
i 584 || - 2y ————| 031,725
2185,4 C v ! Jl A @127,0
H 7/16-20 UNF 1269
i == |enour &
Kop kopnyca C

A —F——
1/2-13 UNC
Kop kopnyca A ]
— 1|
Twn Bana 19 Twn Bana 03 Twn Bana 08
- 33 76,83 — — 33 76,2
~— 57,83 - 33 72,4 — 53,4 —
~—52,6 te—— 53,4 —= +~— 50,3 —=
T | 85T TR 503 S giaes e
N—| | 5/16x1 SAE J502, ctaHpaapTHbI N 349 N 5/16x1 SAE J502, ctaHaapTHbIi
. ias | I /
il | | NI . ; I N P }
— — — - l1-20UNEF 93490 | —_— \Qg};gg o ——=1t—|1-20uneF 53188
|| ‘ || , || ‘ ,
T 5/8-18 UNFx19 T T T
- - -
|/ KoHyc 1:8 Md:500Nm L/ L/ KOHyC 1:8 Md:500Nm

7-6- 55 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Karanor HY02-8001/RU

MMapaenuyeckue MOTOPbI, HEpPerynupyemble

MoTop CO BCTPOEHHbLIM TOPMO30OM Cepus BG
BG AlA| A B
Cepus PaGouwnit o6bem Kopnyc MopTbl Ban HanpaBneHue BpaleHus BapuaHnt
Series Displacement Housing Ports Shaft Direction of rotation Option
Kog cMm®/06 — Kon Mopt Kog Hanpasnenve
0140 140 s G 7/8-14 SAE
0170 169 YNNOTH. KonbLo 1/2
0195 195 0
0240 237
0280 280
0335 337
0405 405
0475 476
0530 529 !
0625 624
0785 786
0960 958
Kon Ban
=
05 E
Pitch 12/24
Kon o v
19 =350
1 —
4
A {
N — —
03 ———131,75
|
u 08 (L,/J 31,75
*
7-6- 56 Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus




Katanor HY02-8001/RU FMapaBnnyeckme MOTOpbI, Heperynupyemble

Konbl BapnaHTOB Cepun TF/ TG/ TH
Kop Onwucanune Cepus TF TG TH
BapuaHTa
AAAA Okpacka B YepHbIi LiBeT X X X
AAAH YnnotHexus FPM X X
AABP KOpOHYaTasi ranka X X X
AAFX YerHOYHbIV KnanaH X X X
BBBF BHYTPEHHWI NpefoXpaHuTenbHbIN knanad 200 6ap X X X
BBBJ BHYTPEHHWIA NpeoxpaHnTenbHbIi knanaH 100 6ap X X X
BBBM BHYTPEHHWI NpefoXpaHuTenbHbIN knanaH 70 6ap X X X
BBBN BHYTPEHHWI NMpefoXpaHuTenbHbIn knanad 140 6ap X X X
BBCG BHYTPEHHWI NpefoXpaHuTenbHbIn knanad 170 6ap X X X
HAAF BHELUHWUI NpeaoxpaHnTentHbIi knanax 100 6ap (M6) X X
HAAP BHELUHWI NpefoxpaHnTeneHbIi knanax 100 6ap (M8) X X
HAAH BHELUHWUI NpefoxpaHnTenbHbIi knanax 140 6ap (M6) X X
HAAU BHELLHUI NpefoxpaHnTeneHbIi knanaH 140 6ap (M8) X X
HAAK BHeLUHWI NpefoxpaHnTenbHbIi knanaH 170 6ap (M6) X X
HAAX BHeLUHWI NpefoxpaHnTenbHbIi knanaH 170 6ap (M8) X X
HAAM BHELUHWI NpefoxpaHnTenbHbIi knanaH 200 6ap (M6) X X
HABA BHELUHWI NpefoxpaHnTenbHbIi knanaH 200 6ap (M8) X X
JAAB kombuHaLms motopa u Topmosa 11 6ap X
JAAD komMBuHaLms MoTopa 1 Topmo3a 16 6ap X
JAAG koMBuHaLms MoTopa 1 Topmo3a 22 6ap X
JAAJ kombuHaums motopa u Topmo3sa 11 6ap X X
JAAL koMbuHaums motopa u TopMo3sa 16 bap X X
JAAN KoMbKHaLmMs MoTopa 1 TopMo3a 22 bap X X
JAAT KOMbKHaLMs MoTopa 1 TopMo3a 22 bap X X
JAAW KOMbMHaLMs MoTopa M TopMo3a 22 bap X X

* [lononHuTenbHble BapuaHTbl: O6paTVITBCb B TOProBOE MpeACcTaBUTENLCTBO KomnaHuu Parker.

7-6-57 Parker Hannifin Corporation
Moapasaenenne ruapaennyeckoro
o6opynoBaHus



Katanor HY02-8001/RU
Akcnnyarauus

MMapaenuyeckue MOTOPbI, HEpPerynupyemble
Cepun TE-TJ/ TF/ TG-BG / TH/ TK

PekomeHgyeTtca ncnonb3oBaTb ruapaBnnyeckoe Macno Ha
MWHEPANbHOW OCHOBE C MUHMManbHbIM cogepxanvem umHka 0,1%
B KQ4eCTBE MPOTUBOM3HOCHON NPUCAAKK.

lMepen ncnonb30BaHMEM APYTvX XUAKOCTEW NPOKOHCYIBTUPYNTECH C
OTAENOM NMPOEKTUPOBaHNS.

HomuHanbHaa paboyas TemnepaTtypa OOMKHa HaxoaWTbCA B
ananasoHe ot +30 go +60°C.

MakcnmanbHas Temnepatypa He gorxHa npesbiwatb +90°C, a
MUHUMasbHast He AomkHa BbiTb Huke -30°C.

3HaunTenbHOE MpeBbIeHe HOMWHANBHON paboyen TemnepaTypel
NpUBEET K CHUXKEHWIO CpoKa cryxObl MCNonb3yemoro macna.
BsAskocTb B MHTepBane pabounx Temneparyp AOMKHa COCTaBNATbL OT
20 no 120 mm?/c.

PekomeHayeTcst ncnonb3oBatb (UNLTP C TOHKOCTHIO (hUMBTpaLmum
20-50 mKM.

TexHuuyeckne OaHHble OTHOCATCS K paboTe B pexume MoTopa.
Ecnu moTop ucnonb3yertcs B Ka4ecTBe Hacoca, BXOAHOW KPYTALLWiA
MOMEHT Ha COEAMHMTENbHOM Bamny JOIKeH OblTb OrpaHuyeH
yKa3aHHbIM MakcuManbHbIM 3HayeHuem gns paboyero pexuma.
lMNpu 3TOM HEOGXOAMMO co3aaHue AaBneHus BcackiBaHus 5-10 6ap B
3aBMCKMMOCTHU OT pacxofa macna (OnacHOCTb KaBuUTaLmK).

It is recommended to use a mineral based hydraulic oil with mini-
mum 0.1% of zinc as anti-wear additive.

Before using other liquids, please consult our engineering depart-
ment.

Normal working temperatures should be in the range of between
+30 °C and +60 °C.

Maximum temperatures must not exceed +90 °C while minimum
temperatures should be limited to -30 °C.

If normal working temperatures are substantially exceeded this will
result in reduced life duration of the oil used.

Viscosity in the range of working temperatures should be 20 to
120mm?/s.

It is advisable to use a filtering fineness of 20 - 50 ym.

The technical data are applicable to motor operation. If the motor
is used as a pump, the input torque on the couping shaft must be
limited to the indicated continuous maximum value. For this, an
inlet pressure of 5 -10 bar must be applied depending on oil flow
(danger of cavitation).

7-6- 58

Parker Hannifin Corporation
Moppasnenexve rmapaBnInyeckoro
obopyaoBaHus



Karanor HY02-8001/RU
Tunopa3smepbl MOTOpPOB

FMapaBnnyeckme MOTOpbI, Heperynupyemble

Cepun TE-TJ/ TF/ TG-BG/ TH/ TK

f
S .
Q A
£ e 5 § §& §5 $ o
5 Y & g S & D 0 &
R NP N g ¥ & $ 58§
g o ¢ g &a FE S8 $ § e
§&  /§e  /£8 § 88 /88 §& g
LN &7 &g g5 &§ g5 & £&
($) O i O (SN [N Y A &
N & $¢ ¢ Y $¢ ¢ ¢
Pa6ou./ Pa6ou./ Pa6ou./ Makc.
TE/TY cwlod 06/MnH KpaTkoBpeM. N/MUH |KpaTkoBpeM. Gap 6ap KpaTkoBpeM. Hm kBT gi(zi??;alz: arpysin
TE/TJ36 36 930/1160 35/42 140/190 200 55/70 8.5
TE/TJ45 41 810/990 35/42 140/190 200 70/100 10 TE 7000H
TE/TJ50 50 725/935 35/45 140175 200 90/115 1 TJ14000H
TE/TJ65 66 705/940 45/60 140/175 200 125/160 15
TE/TJ80 82 560/750 45/60 140/175 200 160/200 15
TE/TJ100 98 470/630 45/60 140/175 200 190/240 15
TE/TJ130 130 350/470 45/60 140/175 200 255/320 15
TE/TJ165 163 280/375 45/60 140/175 200 310/395 15
TE/TJ195 196 235/315 45/60 140/175 200 390/480 15
TE/TJ230 228 265/330 60/75 120/150 200 380/480 15
TE/TJ260 261 230/290 60/75 110/140 200 400/525 15
TE/TJ295 293 200/255 60/75 100/130 200 410/520 13
TE/TJ330 326 185/235 60/75 100/120 200 430/530 13
TE/TJ365 370 150/200 60/75 95/110 200 467/558 11
TE/TJ390 392 152/190 60/75 85/100 200 435/540 10
Pa6ou./ Pa6ou./ Pabou./ MakKc. BokoBble Harpysku
TF cmilo6 o6/MuH | kpaTKoBpeMm. n/MuH KpaTKoBpeM. 6ap Gap KkpatkoBpem. Hm KBT Side loads
TF 80 81 550/730 45/60 200/280 300 215/295 19 TF 16000 H
TF 100 100 600/750 60/75 160/240 300 210/315 21
TF 130 128 470/580 60/75 140/200 300 240/350 19
TF 140 141 370/530 60/75 140/200 300 250/390 18
TF 170 169 355/440 60/75 140/200 300 330/485 19
TF 195 197 300/380 60/75 140/200 300 380/560 19
TF 240 238 320/420 75/100 140/200 300 460/685 24
TF 280 280 270/350 75/100 140/200 300 550/800 24
TF 360 364 200/260 75/100 130/200 300 590/910 24
TF 405 405 170/230 75/100 130/175 300 650/910 21
TF 475 477 150/200 75/100 115/140 300 680/850 17
TG/BG PaGou./ PaGou./ Pa6ou./ Makc. BokoBble Harpysku
TH cm’/o6 06/MuH KpaTKoBpeM. /MUH | KpaTkoBpeMm. 6ap 6ap KpaTkoBpeM. Hm kBT Side loads
TGI/BG, TH 140 140 530/710 75/100 200/280 300 400/545 33 TG/BG 16 000 H
TG/BG, TH 170 169 440/575 75/100 200/280 300 485/670 33 TH 30 000 H
TG/BG, TH 195 195 380/510 75/100 200/280 300 560/770 33
TGI/BG, TH 240 237 320/420 75/100 200/280 300 685/945 32
TG/BG, TH 280 280 270/350 75/100 200/280 300 800/1100 31
TG/BG, TH 335 337 225/290 75/100 200/280 300 980/1350 30
TG/BG, TH 405 405 185/245 75/100 170/240 300 960/1350 27
TG/BG, TH 475 476 160/240 75/115 140/200 300 960/1400 28
TG/BG, TH 530 529 140/215 75/115 140/170 300 1050/1280 23
TG/BG, TH 625 624 120/185 75/115 120/160 300 1040/1360 20
TG/BG, TH 785 786 95/145 75/115 100/140 300 1150/1490 17
TG/BG, TH 960 958 78/119 75/115 70/100 300 925/1390 12
Pa6ou./ Pa6ou./ Pa6ou./ MaKc. BokoBble Harpy3ku
TK cm’lo6 06/MuH KpaTKoBpeM. N/MMH |KpaTkoBpeM. 6ap Gap KpaTkoBpeM. Hm kBt Side loads
TK 250 251 520 114/133 240/310 330 815/1040 49 TK 26 000 H
TK 315 315 410 114/133 240/310 330 1030/1315 47
TK 400 400 370 114/151 205/275 290 1150/1525 49
TK 500 500 300 114/151 205/275 290 1440/1915 48
TK 630 629 240 114/151 205/225 240 1620/1715 34
TK 800 800 275 151/227 190/205 240 1915/2300 44
TK 1000 1000 220 151/227 175/190 220 2410/2660 35

KpaTkoBpeM. = 3HaueHne Anst KpaTKOBPEMEHHOTO pexuma oTHocuTes K 10% paboTbl B TeYEHUE KaxXdoh MUHYTHI.
int. = Intermittent operation rating applies to 10% of every minute.

7-6- 59

Parker Hannifin Corporation
lMNonpaspenexue ruapasBnmMyeckoro

o6opynoBaHus







